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Student must darkening the right oval only after ensuring 9er 3-ck Tif-,---ff cr), -) 	EIT-41-ff ti.  Tit.  ft-41 col  
correct answer on OMR sheet. 3* 	cf-) 31R 1-1:i 1°R umaci (01 
5. 	Disparity in mentioning (SC. ST & Pl-I) in application -A -MIT 3t( 	4-1 3:fR (-1 	14 *it (SC, ST & 5 	.3 Tit 	14 

form and OMR sheet can make your candidature invalid. PH) W1 3i--  ct) 311 	t-I&TT (n ff-4- -z4d-r 	--). 31-4u 
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answer once marked on OMR Sheet, by using white 

-41/ T4ff '4. 11cM -Get.7,/ 	1Adr4 	-4-c1/ , -q-rt 
fluid/ eraser/ blade/ tearing/wearing or in any other 
form. \31c1-)/ 	-c4 .Uff-11 Tc--zfrit 4 ,3  0-(T R-kr .-ei (ti ..u-(m) I 

7. 	Separate sheet has been provided for rough work in this 7. 	chiTh--r4 	fa-q-  wa-  a-R--dcm -4 30Roc1 trd „sr 
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MENTAL ABILITY TEST (MAT) 
i4) 4 e4c11 OaTT 

(QUESTION NO. 01 - 50) 
tk..v.11 01 - 50) 

1. The value of 

1 	1 	• 

1 	1 	1 
+ 	+ 	+ 1. 

1- 	•1 	1 	1 
+ 	+ 	+ 	+ 

	

1+- 	+- 	+- 	. 

	

1 	1 	1 

1+2 	-3 	-
- 
	+

- 

1 	1 	1 	1 
+ 	+ + 	 is 

-T4+,r5 \I-5+16 
+

.\/-+,F7 
+

,F743
+

-A+4 

	

1. 4 	 2. 	2 

	

3. 	0 	 4. 	1 

r_+ 	, 	r- 	r- 	f-- 	ct)I 
.NR- +AJ6' Al6+117 	1/7+-%/8 	,V8+-V9 	- 

411.1 	t I 
1.•4 	 2. 	2 
3. 	0 	 4. 	1 

2. If 5tant9=3then 

1. 	0 

3 3. 
5 

Stan 0 - 3 cos 6' = 2. Stan 0 --3cos 9 = Tf-ft 5tan9=3 ci G1 	 
5sine+3cos8 

2. 	5 
3 
4 

4. 
5 

5sin9+3cos0 
• 

	

1. 	0 	 2. 	5  
3 

3 	 4 

	

3. 	 4. 
5 	 -5 

3. A regular polygon is drawn with 35 diagonals. 
Its interior angle will be 

	

1. 	154° 	 2. 	164° 

	

3. 144° 	 4. None of these 

3. Bch 35 -ftWail 0101 .41T 
col 
164° 

ul1c11 	t 
-Ici, 	c,i,  311- RV 

	

1. 	154° 

	

3. 	144° 	. 

t1:7 
2. 

411-f 	5)4 11 

4. --9-# .t ct)) 	9-61 
4. If x means -, + means 4-, - means x and ÷ 

means + then 15 - 2 + 900 + 90 x 100 = ? 

	

1. 	190 	 2. 	180 

	

3. 90 	 4. -60 

4.  '+' 	col 	31.0+, 	'-' 	col 

3TO '+' t t 

- 	2. 	180 
4. -60 

'x' zi-ft 	col 	31-0'-', 
31.21 "x" 	a-R.  "÷' 	(PI 

15-2÷900+90x100=? 
1. 	190 
3. 90 

5.  If 	one 	root 	of - quadratic 	equation 
(K+1)x2  - 5x + 2k = 0 is recipeocal of other 
then value of K is 
1.2 	 2.0 
3. 	-1 	 4.1 

5. (K+1)x2 - 5x + 2k=0 
41I-i 

0 
1 

Tift -It "EiM ti4i)cNui 
T 	t) 	s'(1 	v,-EfttKcM 

2. 
4. 

6),II 	I 
1. 	2 
3. 	-1 

6. What will be the ratio of volume of cube is to 
volume of sphere inscribed in the cube 

. 	1. 	3 : 	7t 	 .2. 	6 : n 

	

3. 	6 :5 	 4. 	2 :7t 

6. t.) 	-1-1- 	c. i 	3T171-d-9- 	-1.  3t1c 

6:n 
2 :7c 

at: 	4 1) e) 	Cr) I 

3117-d7 t &TIM-. 	14-il 
1. 	3 : 	TC 	 2. 
3. 6 : 5 	 4. 

7. ,If a,fl 

2x2  - 

( 	2 a 

5x +16 
1 
3 

± 

are 

= 

( 	2 
- 

the 	roots 	of 	the 	equation 

0 then the value of 
1, 
3 

is 

	

2. 	5 
4 
5 4. 

12 

7. 

7 /12 .-N, 
-t"--- 

2x2 -5x+16=0* 
, 

4)1 	4-II-i 

Tift. 	a,/3 r•llazi 	\LAct-)1 

(a2)3  
- 

1  
+ 

5 
-4 
5 

12 

tei 	71- 1-- 	t -ffq 
J3  

2. 

4. 

' c ) 
fl 

1. 
4 
1 3. 
3 

a 6 	4 I I 

1 1. 	
-4 
1 3. 

	

3 	. 

Page 2 of 32 

S/27 EOD/17- X -1B 



8. Divisor is 10 times of quotient and 10 times of 
reminder. 	if 	quotent 	is 	10 	then 	what 	is 
divided. 
1. 	1010 	 2. 	1100 
3. 	1001 	 4. 	101 

8. 1-1-1 	q-ITTF 	4)1 	10 	tt -I 13N tErch 	4)1 

10 	4,11l 	t,zfff 	qTRIGF-0. 	10 	0, 	c-1) 	̀4177TY 

- - 
1. 	1010 	 2. 	1100 
3. 	1001 	 4. 	101 

9. 

(0.111)' + (0.222)' _ (0.333)' + (0.333)2(0.222)1 

Will be 

	

1. 222 	 2. 	0 

	

3. 333 	 4. 2 

Value of
\ 

. 
, 

(0.111)' +(0.222 ' _ (0.333y + 0.333)2(0.222) 

col Trm 0,11 

	

1. 222 	 2. 0 

	

3. 333 	 4. 2 

10. If n is a natural number the 92" - 42" is always 
divisible by 

	

1. 	13 	 2. both 5 and 13 

	

3. 5 	 4.None of the above 

10. zift n 	Bch gl- 	,-K1 	*, 	92" -42" 

i 	4\-111 	1 4-TrIc-ff 	04 111 

1. 	13 	 2. 5 -21T 13 q)-1-) t 

3. 	5 	 4. .47114 t ct))4. 	--ef 

11. If sum of LCM and HCF of two number is 50 
and their LCM is 20 more than their HCF, 
then the product of two numbers will be 

	

1. 525 	 2. 425 

	

3. 625 	 4. 325 

1 1 . Tift 	q) 	Ll .c 113 	-71=1 	14-11t-1 ci (1 ct> 	zr 

'96-c-1 4-1 	14-11L-1c1dc-f) 	4)1 	ul) 	50 	0 	q 	"AFTT-1 

14-11-(-1c1 	cl), 	4-160 41 	,-1 4-1 1 LA u cict) -R-). 	20 	\i-LI lq 1 

0 	c-1) 	),-I) 	•.-.-q-113.# 	Cbl 	ttUN-14)Q1 	6) 4 111 

1. 525 	 2. 425 
3. 625 	 4. 325 

12. A 320 m long train moving at an average 
speed of 120km/h crosses a platform in 24 
seconds. A man crossed the same plateform 
in 4 minutes. The speed of the man in m/sec 
is: 

	

1. 	2.0 	 2. 	2.4 

	

3. 	1.6 	 4. 	1.5 

12. 320 	41--CR- 	-6141- 	c,14 114, 	120 	f:----a*-CR- 

fElZT 	1TM 	-). 	c-1-) 	L-c-)tt-1)14 	c-1-)) 	24 

\-1c1-)ti # 	TR 	-R-01 	- c1-> 	wrgfr 3-er 

t-c,)t4)14 	cb) 	4 	.f1-9Z #. t)----  tiR 	chi 	vildl 

-g-  *1 	u:1fta --('i. -rn 	-d-Ry 	1 
1. 	2.0 	 2. 	2.4 
3. 	1.6 	 4. 	1.5 

13. 

do ±bn+i 

13.  

an+1 ±bn-1-1 	- 

is the AM 	(arthmetic 	mean) If 	
a" +b" 

between a and b, then, find the value of n 

1. 1 	 2.3 

3. 	2 	 • 	4. 	0 

-2-11-  Tff -  	a 	b 	* 	4'M 	1411,-c-k 
a" +b" 

liTal (AM) * -d-4 n 4)1 -9T9-  04 11 - 

	

1. 	1 	 2. 	3 

	

3. 2 	 4. 0 

14.  In 	a 	certian 	office, 	-I  of the 	workers 	are 
3 

women, -
1 

of the same are married and -
1 

of 
3 

the married women have children. If 
3 	

of 
4 

the men are married and -
2 	

of the married 
3 

men have children, then what part of worker 

are without children? 

1. 	18.. 	
2. 	47 

9 

3. 	11/ 
18 	 3 

4. 	17/ 
6 

14. Ch WRT167:f # -I  lift0.  #--- 	* I 1Tf14 
3 

1  t 	Tilt-d-1Q 	Ilcc,),_01 	3N- 	-1 -Trv- i. 	7j----r 
2 	 3 

3  Tit---o-r34 	(4') 	-Erm 	-q--. 	t-  I . Erft 	T7q.  
4 

Ilq),1q1 * 13* 	-2 	wr- r-cziq-r 
3 

q - 	* 	c-1jft---d - 	Tf-,--V)-' 	ct, 	'TM 	CO) 	1-tr 

q---i- 	--M.  t 1 

1. y
8 	 /9 

2. 4/ 
1  

3. 	11
18  
/ 	 4. 17/ 
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15. 	If in a business, Alok gains 75% more profit 
than Akash, then by what percentage profit of 
Akash is less than the profit of Alok 
1. 25% 	 2. 	12.63% 
3. 30.8% 	 4. 42.85% 

15. 	Bch 	a-ic-i-iM 	# 	cb) 	34TWIT. .4 

75%_ 	v3- 11 q I 	- 14-1- 	6)c1 I 	g 	(-I) 	31-TM-17 	ct)) 

31-T- 	t -1 -d91 	-1 --alc-1 	Thli Fill-  6)4 11? 

1. 25% 	 2. 12.63% 
3. 30.8% 	 4. 42.85% 

16. 	The height of three towers are in the ratio of 
5 : 6 : 7. If a spider takes 15 minutes to climb 

the smallest tower, how much time it will take 
to climb the highest one 
1. 	15 minutes 	2. -18 minutes 
3. 21 minutes 	4. 54 minutes 

16. 	c 	1 	Th- t 	6-)-c41 	chl 	3-1Tifff 	5:6:7 	t 

-Efft 	') TrwIt Tiqt utt 	1-4,4 uk ----4 # 
15 	PMZ ---16'r * 	ci) 	Tf4R4 	4-;-c) 	UP44 	uk 

q0 # ---d9r TATRI.  ei4 t 

1. 	15 #F9Z 	 2. 	18 f4-----d.  

3. 	21 ftl-q-d 	4. 	54 -11k-z 
17. 	The two vertices of a Triangle are (4, -2) and 

(2, -6). If centerod of a triangle is (0,1) then 
third vertex of trinagle will be 
1. 	(-6, 11) 	 2. 	(11, -6) 
3. 	(6, -11) 	 4. 	(6, 11) 

17.c-f.) fl-j-- 	* c1 -er4 (4, -2) q (2, -6) t I 

-En- 	f''I-J- 	c-1) 	c--tr- 	ct) 	ci) 	r4 	I ict) 	(0,1) 	6) 

cl) 	-1 4-r 	cl-)1 	cNTAT ti4 	1-- 1 ich 	61 I 

1. 	(-6, 11) 	 2. 	(11, -6) 
3. 	(6, -11) 	 4. 	(6, 11) 

18. 	If sin a. cos a, tan a 	are in GP, GP means 

COS2  a = sin a. tan a then cot a-cot2  a = 
1. 	1 	 2. 	0 
3.4 	 4.2 

18. 	Tf-ft 	sin a, cos a, tan a 	11131 	-Itl- 	-44 	t 

3-1.2-1-1-ff cos' a = sina.tan a -q- 	cot6  a - cot2  a = 

1. 	1 	 2. 	0 
3.4 	 4.2 

19. 	Eight members of a group shake hand with 
one another once. How many hand shakes 
were done altogether. 
1. 	64 	 2. 	16 
3. 28 	 4. 	18 

19. cl-) 	TITg 	cl-) 	3-1-1 	TIqTR:ft 	c-f) 	- 	-)- 

-) 	6121- 	Pc,,ivii I 	,42,Q-1 	f+---d-4 	-R. 	6121-  

f4-6-ft TF41  

	

1. 	64 	 2. 	16 

	

3. 28 	 4. 	18 

20. Three of the six vertices of a regular hexagon 
are chosen at random. The probability that 
triangle 	formed 	by 	these 	vertices 	is 
equilateral is 

1 	 1 
1. 	 2. 	 

	

20 	 10 

	

1 	 I 
3. 	 4. 

	

- 	-- 

	

5 	 2 

20. 	Tfffi- -17-T1- --i1=11T-e4-p * 6 ttlEII 44 -# tff 

71)7E11 	cl)) 	zifq-t 	(at 	random) 	-q-ii 	uncil 	t 

(-I) 	.-1 	'eft 	t 	T1-42141-g 	f .4-p 	-q-ff4 	- f't 
41 - ct-c11 	t4-ft 

1. 	
1 	 2 1 

20 	 10 

1 
3. 	- 	 4. 	I  

5 	 2 

Direction :- Question 21 to 25 

Study the following pie-chart and bar graph and 
the 	following 	questions 	percentage 

distribution of teacher in six different districts. Total 
numbers of teachers = 4500 

-rfi- 41-  : 	(q 	21 	v .).  25) 	4 it4 	11 	trl-- 	-cilJ 

3fi-R- 	-q11--F 	4)1 	31-WT4-9- 	4), 	I-- 4-.1 rgZqd 	I* 
 *'zip 	I 

-0 Tfo- 	3-1 -TT 	- 	3M-1T 	1 --- f 	fta9M1- 	co! 	qi- ic-i 

cik 	fazir----9-  * -ftu--'f - 1-  cv ,-k..q_ii = 4500 
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Percentage of teachers f4Rtf 	Mild 
LL 

..* ._. 	,c. 
5 	District A 

14% 
District E 

21% 
District B 

18% 

District D 

15% 	District C 
28% 28%  

,, 

tle 	ftreIT A 
14% 

fZ`11-6-1 E 
21% 	 i;fr 13, 

16%,.r 

f -M D 
15% 	f -ar C 

Number of male out of 4500 
4500 	PiaiThl 14 -4 1----Erl 	4 	\i-il -q-(4-  

4 3f-d-Tr-31---al-r 
- 

fb4VrrA _ 
ftr 

B 
(NFIC_ 

ft6;" D 

IIIIIIIIIIIIIIIM 

1.11.1 

i 
District A 

District B 

District C 

1 
District D 

District E 

District F 

• 
• 
• 

• 

, mg 
f? ,̀,,,  E 

ftri F MUM 

100 	200 	300 	400 	500 	600 	700  0 0 	100 	200 	300 	400 	500 	600 	700 

21. 	What is the total number of male teachers in 
District F, Female teachers in District C and 
Female teachers in District B together. 
1. 	1180 	 2. 	1080 
3. 	1020 	 4. 	1120 

--6T 	-a 21. i' --6T F 4 -cffzi-  DiaTT, fc 4 42 - 
ftLIT 	3N f ---o-r B A Tftar Fib cp) 
Theiict) 	ctp •-k-o--ii ctql t? 
1. 	1180 	 2. 	1080 
3. 	1020 	 4. 	1120 

22. 	The numbers of female teahcers in district D 
is approximately what percent of the total 
number of teachers (both male and female) 
in District A 
1. 70 	 2. 80 
3. 75 	 4. 90 

22. 	-1 -61.  D 4 lam Plai--4-  4 \,-ig-ii 1 --0-  A 

# 	ita-F4 	4 	ct)(4 	+icqii 	(1----14---9-ftwr 
drill) 	-Ti4TTT ftu--q-r RftTiff *? 
1. 70 	 2. 80 
3. 75 	 4. 90 

23. 	In 	whibh 	district 	is 	the 	number 	of 	male 
teachers more than the number of female 
teachers? 

B only 	 2. D only 
3. Both B and E 	4. Both E and F 

1. 	B 	ccie1 	 2. 	D 	Uri1. 

23.. 	Wi=f 	-1 --- 	14 	1%49-4 	c61 	•1's it 	TiftaT 

ft9-0' t 31-14 	t? 

3. 	B 30 E q)-1): 	4. 	E 30 F q) .-I).  

24. 	What is the difference between the number of 
female teachers in district F and total number 
of teachers (both male & female) in district 
E? 
1. 625. 	 2. 775 
3. 675 	 4. 725 

-11- 	-4 24. 	1 --0.  F 4 T-IftWF itai--4 3k 	E 
cgei ft&L-F4 (-q----.4 -Te8---d-r qi-t)) 4 *s.lI 

frq.  crq 131--R-  t? 

	

1. 625 	 2. 775 

	

3. 675 	 4. 725 

25. 	What is the ratio of the number of male 
teachers in district C to number of female 
teachers in district B? 
1. 	11:15 	 2. 	15:11 
3. 	15:8 	 4. 	8:15 

'a---,51 	 ifT .1 25. 	fl----6T 	C 	# 	Pla-l- 	30 	B 	14 

TfitM 	ft9---4- 	cr-t 	,-i,Lc.zii 	- m 	4)4-m: 

:Fra cV i 	? 
 3114 

	

1. 	11:15 	 2. 	15:11 

	

3. 	15:8 	 4. 	8:15 
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26. 	Complete the given series 
25, 255, 2545, 25455 	 
1. 254545 	 2. 25555 
3. 254555 	 4. 255454 

-eiftc: 26. 	qr) q $01-ffi-  ch) VI 
25, 255, 2545, 25455 	 
1. 254545 	 2. 25555 
3. 254555 	 4. 255454 

27. 	Find the missing letter : 27. 	col 	fMtf- 	: 

3 L 4 3 L 4 

1 , Q 17 1 Q 17 

5 ? 4 5 ? 4 
1. V 	 2. P 
3. Q 	 4. T 

1. V 	 2. P 
3. Q . 	 4. T 

28. 	In the given arrangement of numbers after 
removing all 	even 	numbers which 	is the 
middle most number 
185947125836592764529264123514283 

- 1. 	5 	 2. 	7 
3. 6 	 4. 9 

28. 	tr 	..,4 	,i,,,,, 	uT-4-fur 	4 	t 	TR-ft 	, -14-1 

\Liccz113# c, 	6t1-) Ti -44t ti'4A134  

c6) .t-kA I cm 1 	r?  t-q- 	 tlf 
185947125836592764529264123514283 

' 	1. 	5 	 2. 	7 
3. 6 	 4. 9 

29. 	A clock is set right at 5 a.m. The clock loses 
16 minutes in 24 hours. What will be the right 
time when the clock indicates 10 p.m. on the 
4th  day? 
1. 8 pm 	 2. 9 pm 
3. 10 pm 	 4. 11 pm 

29. 	ct) Elr cr)) Rjqg 41-c1 El 	Q) Tit ft-TIT 4 1q1 I 

q6 Elli 24 	--1Z 14 16 f49-e tilt), er Wel 

t I TAO R 	-I zfit Eft # 	IcI -. q.fl Ei) 6) 

RTet 	t1+-1-1 	cMI 	'11? 
1. 8 pm 	 2. 9 pm 
3. 10 pm 	 4. 11 pm 

Direction (Q. No. 30 to 31) : Answer the questions 
based on the following information. Numbers are 
written on the Chess Board as given below. 

a 	b 	c 	d 	e 	f 	g 	h 

f4-471" NO it 30 t 31) : 1 1-.1fiZqd 	u11•1clo1 
q-R. 	31-rzTftff 	ci-ca 	* 	N3-n.< 	trr 	q.  I 	Lcl1 	ici vi 

-1g tR -1z.  3T717 #-0:1-1 	fedi * I 
a 	b 	c 	d 	e 	f 	g 	h 

1 1 2 3 4 5 -6 7 8 1 1 2 3 4 5 6 7 8 
2 9 10 11. 12 13 14 15 16 2 9 10 11 12 13 14 15 16 
3 17 18 19 20 21 .  22 23 24 3 17 18 19 20 21 22 23 24 
4 .  25 26 27 28 29 30 31 32 4 25 26 27 28 29 30 31 32 
5 33 34 35 36 37 38 39 40 5 33 34 35 36 37 38 39 40 
6 41 42 43 44 45 46 47 48 6 41 42 43 44 45 46 47 48 
7 - 49 50 51 52 53 54 55 56 7 49 50 51 52 53 54 55 56 
8 57 58 59 60 61 62 63 64 8 57 58 59 60 61 62 63 64 

30. 	If a8  = al  + az  + a3  + 	+a7 
IN  = ID, + b2  + b3  + 	+b7 

. 	 - 

. 
h8  = hi  + hz  + h3  + 	+h7  
what is a8  + b8  + 	 + h8 = 

30. 	zlf :- 
a8  = al  + a2  + a3  + 	 +a7 
b8  = bi  + b2  + b3  + 	+b7  
. 	 . 

• 
• . 
h8  = hl  + hz  + h3  + 	+h7  
what is a8  +108 + 	 + h8 = 

	

1. 2080 	 2. 1596 

	

3. 399 	 4. 741 

	

1. 2080 	 2. 1596 

	

3. 399 	 4. 741 
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31. The total number of odd numbers on the 
white box are - 
1. 8 	2. 16 	3. 24 	4. 32 

31. -qtd.  ct)) co) 	f_4) cgo 	tuosir-4 
	 t? 
1. 8 	2. 16 
	

3. 24 
	

4. 32 

Directions : Read the information given below 
carefully and answer the question. 

x + y means x is the sister of y. 
x - y means x is the son of y. 
x x y means x is the mother of y. 

x # y means x is the father of y. 
x = y means x is brother of y. 
x = y means x is daughter of y. 

32. Which of the following alternative means 'F is 
father of J' 
1. F÷G#Hxl-J 
2. J=I+HOG÷F 
3. F+G-Hxl-J 
4. J+I-HxG-F 

33. Five persons are standing in a line facing 
North. One of the two persons standing at the 
extreme ends is a teacher and the other is a 
businessman. A doctor is standing to the 
right of a student. A clerk is to left of the 
businessman. The student is standing 
between the teacher and the doctor. 
Counting from the left the doctor is at which 
place? 
1. I 	 2. III 
3. 11 	 4. IV 

fktzr 	 414 TF9-r3t.  col arm t 4ct) 

W4-9- I5Ttf-A7 - 
x  + y3TzTtff x, y c6) 	t 

x- y 3T241-ff x, y 	* 

x x y 3T2TtUx, y 

y 3T2ff x, y 	f4-d-r t 1 

x y3Tzliffx, y cot 	t 

x=y3T1ffx,y flT-41-  t1 

32. 	 c6).-1 	f4T--- 1* TT 3121 t "F, J 

f4-ffr t 1" 

1. F÷GtHxl-J 
2. J=I+HOG÷F 
3. F+G-Hxl-J 
4. J+I.-HxG-F 

33. L-11z1 afWf 	ct) #14fi 	3-c1k ffur (6) 31-1-R.  

si6cp 	tI -ctfr 	3 	r -Fit4 

c‘o 3T 3-Tarricr t 3 	3tH 	.) 

alcm14) 	 ffErrOf 	3117 .U1--1 

*1 cteich, alc1t114) T tzit 3t t1 ft-R11, 

3Tal-FfT3t 5-Ictt 	tq.  TaT * Itt 

3itR- 	ffr9-0- 	 f+--RT --2-rr-ff ER 

r-qr 
1. I 	 2. III 
3. II 	 4. IV 

Directions (Q. No 34 to 36) : Read the information 
given below. 

Ten friends A B C D E F G H I J are sitting 
on the opposite sides of a rectangular table, five on 
each side of a pair of opposite sides of the table. J 
& F are sitting next to each other. B is sitting at 
middle position on one of the sides and C is sitting 
as far from B as B is sitting from A. A, B & C are 
sitting on the same side of the table. G & I are 
sitting opposite to each other, D is on one of the 
ends. E has an equal number of persons sitting on 
his either side. I is sitting to the immediate right of 
D. 

MT No -#0 34 - 36) 4z1 t- 414 u11-1cta 

cP) WM-T-4-T 

A 13 CDEFGH 1.1311-4-dTT7 

4)vl 	 trR.  41-ci-4ii-cf4 -ksz41 

*1 J 3117 F 	-) 	L-11 t1 	*, 

t-dT t 1 C, B 	3---d-t 

13,Att-dTt1 A, B 311- C 

4)vi 	' 	3#R.  t t 1 G 3ftR.  1 ct) 	 T 

t8 t 1 ID f+71).  c.t) ts)) 1:1R-  *-6-1 t1 E T 

q). -1I 	.-1 4-11.-1-k-q-11 	WW1 	t 1 I, D M 
	tzfi 31R.  tur t 1  

34. Who is sitting opposite to G. 
1. H 	 2. 
3. J 	 4. A 

35. In between of which two persons I is sitting? 
1. D - E 	 2. J- E 
3. B - C 	 4. D - B 

34. G 	T11:4 1-  ct)1.1 tIZT 
1. H 	 2. I 
3. J 	 4. A  

35. I r+-ff 	ce414c1.1) M.  41-4 taT t? 
1. D - E 	 2. J- E 
3. B - C 	 4. D - B 
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36. In which of the following pairs, given person 
cannot be sitting opposite to each other? 
1. D - C 	 2. F - C 
3. E - B 	 4. G - H  

36. 	-1)- 	c-t1 	 fI 	 c-Elf4ff 

. 	q,sd 	71-4:17T1 
1. D - C 	 2. F - C 
3. E - B 	 4. G - H 

A fruit seller does not use currency. Instead 
of he uses the following exchange rates : 
10 strawberries = 2 Apples 

1 Apple 	= 2 Bananas 

4 Bananas 	= 1 Mango 

On the basis of the above exchange rates. 

how many strawberries are equal to one 

mango? 

1. 4 	 2.8 

3. 10 	 4. 12 

37. 	-) 	 .4j1 ch Icizr)TT 

ict) 	-44 c-46 -rfif 	 ct>i 

-pplYr ct-,c11 t : 
10 	 = 2 #4 

1 -44 	= 2 ch 

4 ct\-)c) 	= 1 31TH 

qc) 4 1 	 31-1R uk, 

ct) 3-1-1-#* q*sH 
1.4 	 2.8 
3. 10 	 4. 12 

38. If > stands for + 
< stand for - 
A stands for x 
✓ stands for ÷ 
Then what is the value of 52<4A5>8v2 

	

1. 38 	 2. 36 

	

3. 124 	 4. 312  

38. f > (4)1 3P- 

• ct) 3.1TO 

A CM 3-Td X 

✓ CM 3T2 

52<4A5>8v2 4)1 #T9-  - 

	

1. 38 	 2. 36 

	

3. 124 	 4. 312 

39. The time shown by the reflection of a clock in 

a mirror is 4 hours 35 minutes. What is the 

actual time in that clock? 

1. 7 hrs 25 min. 

2. 8 hrs 20 min. 

3. 7 hrs 35 min. 

4. 8 hrs 25 min.  

39. LE 	T 	Lc   511 R 4-€i # 4 

Q-1 c-t') 35 t9Z. 	 1 	sd 

-RTgt 	 qzfr *? 

1. 7 61 u1 ct) 25 f#9-d 

2. 8 Glv-14) 20 ft1-9Z 

3. 7 Elu1c1-) 35 -1= r9z 

4. 8 qui ct-) 25 fiT9Z 

Directions (Q. No. 40 - 41) : Read the information 

carefully and answer the questions given below : 

A cube is cut into two equal parts along a 

plane parallel to one of its faces. One piece is 

coloured orange on the two largest faces and 

yellow on the remaining. The other piece is 

coloured yellow on two smaller adjacent faces and 

orange on the remaining. Each is then cut into 32 

cubes of the same size. These 64 cubes are mixed 

up. Then :- 

f 	r 	40-41) 	q) 4 14 vi 1 -1 ch 1 	ct)) Z-TH 

	

1-1(1) 	tt 4 H) 'Vtrt 	\3-c-k 

-) cid ter, 
4-,dct) 	ick 	 41 irl'( 	cbiti Trzfr 

-4-TA 	fv#1 	-) FTIT c1) -4 	tb-dTh 

ct)) I  cf 	̀4 1 	4 11 T 1 T 3f *Er 1Fd1 4,1 

	

4 1 	11 ITEfT I 	q.-1 	71T7T 

ct)) 1111- 	 tEr 	ct)) 

I TRfT 1 	ct)) 32 "E5)t 

4)1 	t I TIRZ I 	-1 64 -EF-1-  4)) 311-  ck ci 

rkdk-11 Tm-r, :- 
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3. 

2. 16 
4. 24 

41. How many cubes have only one coloured 
face? 
1.'8 
3. 20 

2. 
1. 0 0 1. O0 	2  

3  0 0O 4.  

2. 1. 

3. 4. 
0 

0* 
0*0 

X * 0 
X X 0 
0* x 
X 0 
X X .(> 

0 

40. How many cubes have no coloured face at 
all? 
1. 0, 	 2.4 
3. 	 4.16 

40. ftd-  Eft 	 c 	 '01 ef t? 
1. 0 2. 4 
3. 8 4. 16 

41. f+---d4 E19 14 ci)ciri ct) 4 11 3fT 1-boct,  g? 

	

1. 8 	 2. 16 

	

3. 20 	 4. 24 

42. Choose the correct alternative that 
represents the relationship among illiterates, 
poor people and unemployed. 

42. Tit fa-- Fr 4)1 Z.1 	\TI)  	 
	 wr4ff 	 cqRk-vil 

TEr 

Directions (Q.' No. 43 - 44) : In each of the 
following questions find out which of the answer 
figures complete the figure. 

-ftbT NO T40 43 - 44) 

31Tet ci6 faWF1a i 	l 	ITT c4-)) -c0 

43. Question Figure. 

Answer figure 

0)0x 
0*OX 
o 	x0* 

00*0 
00*0 
p()*<> 

Off ® 
   

0 

 * x 

0 	0 
? 

xxx 00*0 
0 x 

0 0 

43. AT f 

X * 0 
X X 0 
Oxx 

1. 0* 

0*0 

X *0 
X X 

0 

4. 3. 
O 

44. Question fi•ure 

:•):4+1 
000 
000 
000 

44. M.-1 000 
000 
000 

000
00000:: 0 :: 

000 
000 
000 

3  0 0 4  MD 

Answer figure 

2. 1. 
000 
000 
000 

4. 

2. 
000 
000 
000 

4. 3. 

®*Ox
OXOX 

0 	X0* 

00*0
00X0, 
<>0*<> 

O ff ® 

 

* 
X 

? 
0 0 0 
x*X 00)1E0 
0 x  00 0*0 
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Directions 	(Q.45 	- 	46) 	: 	Select 	the 	correct 
alternative which will fit in the place of sign of 
interogation for a correct pattern. 

'ft-47T NO 	to 45 - 46) : Trgt -k-d-4 c. 	FJ71t7-1 
cii,44, 	i:-- 	3e17- 	1:17 	,o,iia- ci  ),) 

cil 	ffef f47:1 	79 c.h  I 
45. 45. 

CnC (v.v.) Cu C un_i cnc nnn cvC v?u 

	

1. 	n 	 2. 	C 

	

3. 	l.) 	 4. 	) 

	

1. 	n 	 2. 	C 

	

3. 	V 	 4. 

46. 46.  
DDGG GDDD Daaa GO ? DDGG GDDD HOG GO ? 

	

1. 	GD 	 2. 	(](] 

	

3. 	Da 	 4. DD 

	

1. 	GD 	 2- aa 

	

3. 	Da 	. 	4. DD 
47. If 'SKY WAS BLUE' is 123 

'SEA IS BLUE' is 245 
'PEOPLE SWIMMING IN SEA' is 4678 
'PEOPLE LIKE SKY' is 801 and 
'BIRDS IN SKY' is 169. Then 'PEOPLE LIKE 
BIRDS' will have the number. 

	

1. 809 	 2. 	104 

	

3. 036 	 4. 806 

47. 	'zfft.  - 
'3171719.  41-FT 241" 123 t I 

t" 245 t 

ei)+I Tilp -4 .-IIc) t' 4678 t 

'An 31TRITIM 1:1-Rfq" 801 

'11.&-1.  31.71179.  #' 169 

"01)+1 'get EIT4-q' 	(61 cm 1 	-1- se4 1 tiff? 

	

1. 809 	 2. 104 

	

3. 036 	 4. 806 
Direction (Q. No. 48 - 50) : Find the missing 
character in each of the following questions 

W'RT (Piet 48 t 50 00) : ft7 77A -4 
 -ic.q_ii 	--d-t I 

48. 	A 	 - 48. 	 A 
N OrMV 
Av w 26 	 . 

14 IMV 
Aw  26 

	

1. 54 	
V 	

2. 51 

	

3. 48 	 4. 44 

V 

	

1. 54 	 2. 51 

	

3. 48 	 4. 44 
49.  

0 0 0 0 0 0 

0 	0 	o 
0 	0 	0 

	

1. 54 	 2. 51 

	

3. 5 	 4. 6 

49' . 	0 	0 	0 	SZD 	0 

	

0 	o 	o 

	

0 	0 	0 

	

1. 54 	 2. 51 
3. 5 	 4. 6 

50.  
64 	36 

12 	81 

50. 
64 	36 	

1 2 	81  

49 
100 

	

1. 40 	 ' 	2. 30 

	

3. 20 	 4. 10 

49 
100  

	

1. 40 	 2. 30 

	

3. 20 	 4. 10 
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Language Test (02 - B) 

ENGLISH 

(QUESTION NO. 51 - 100) 

Direction : Choose the word that is opposite 
in meaning to the given words in question nos. 
51 - 56. 

59. 	Wanton 
a. 	frolicsome 	b. 	unplayful 
c. joyless 	 d. demure 

51. 	Insolent 
a. Timid 	 b. 	soluble 
c. 	bold 	 d. 	dissolving 

60. 	Exonerate 
a. 	release 	b. 	guilty 
c. 	rusticate 	d. mastermind 

52. 	Affable 
a. 	reckless 	b. 	rude 
c. 	ungrateful 	d. 	responsible 

61. 	Disparate 
a. 	helpless 	b. 	different 
c. needy 	 d. unaware 

53. 	Mitigate 
a. 	intensity 	b. 	barricade 
c. 	investigate 	d. 	personify 

62. 	Capricious 
a. 	fickle 	 b. 	calm 
c. 	careful 	 d. 	forgetful 

54. Detrimental 
a. 	hurtful 	 b. 	desirable 
c. 	profitable 	d. 	injurious 

Direction 	: 	In question numbers 63 - 69, 
choose the alternative which expresses the 
meaning of the given idioms/phrases. 

55. Exodus 

a. escape 	b. exit 

c. 	arrival 	 d. 	emigrate 

63. 	To hear through the grapevine 
a. To learn gardening 
b. To learn about fruits 	. 

c. To learn something officially 
d. To learn something from a rumour 

56. 	Admonish 	 - 

a. reprimand 	b. chide 

c. 	scold 	 d. 	praise 

64. 	To hit the nail on the head. 
a. To enjoy one's profession 
b. To learn carpentry 
c. To be violent 
d. To do something in an effective way. 

Direction : In question numbers 57 - 62, out of 

four alternatives, choose the one which best 

expresses the meaning of the given words : 

65. 	A piece of cake 
a. task A difficultas t 
b. A special person 
c. A memorable event 
d. An easy task 

57. 	Perseverance 

a. 	vacillation 	b. 	volatility 

c. steadfastness 	d. 	levity 

66. 	To spill the beans 
a. To grow vegetables 
b. To open an old box 
c. To reveal someone's secret 
d. To request for support. 

58. 	Relinquish 

a. recognise 	b. assert 

c. 	hold 	 d. 	forgo 

67. 	An axe to grind. 	. 
a. Grinding store 

 
b. Selfish purpose 
c. An axe for cutting trees 
d. To take revenge 
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68. 	To beat about the bush 
a. Not coming to the point 
b. To cut down the bush 
c. To cut expenses 	 ° 
d. Defeat 

77. 	Ramesh 	(be) a teacher since 1994. 

a. 	is . 	 b. 	has been 
• • c.. is being 	. d. 	was . 

69. 	To move heaven and earth 
a. To die 
b. To make every possible effort 
c. To rain heavily 
d. To shift places 

78. Don't bring her unless she 
(promise) to behave herself. 
a. promised 	b. will promise 
c. promises 	d. has promised 

Direction 	: 	In 	question 	numbers 	70 - 76, 
sentences are given with blanks to be filled 
with appropriate word out of four alternatives 
given : 

79. She 	(work) since morning and 
now she wants to take rest. 
a. has been working b. had working 
c. was working 	d. had worked. 

70. 	Father 	divided 	his 	property 	two 80. 	When I 	reached the theatre, the play 
(start) sons. 

a. among 	 b. to 
P in 	 ' 	d. between 

a. had started 	b. starts 
c: will start 	d. 	to be started. 

71. 	Meena 	repented 	 her 81. 	The 	baby 	• 	(laugh) 	with 	his 

mistakes. 	 - 

a. Over 	 b. of 

c. for 	 d. about 

mother in the video I watched yesterday. 
a. 	laughs 	. 	. 
b. was laughing 
c. laughed 	 • 	

. 

d. had been laughing 
72. 	I want to dispense 	the services 82. 	When 	he 	was 	unmarried, 	he 	often 

(arrive) home late. of my servant. 
a. 	of 	 b. off 
c. with 	 d. about 

a. was arriving 	b. had arrived 
c. arrived 	 d. would arrived 

73. 	There are 	more toys in the box Direction : In question 83 - 88, choose the 

alternative with correct spellings where this came- from. 
a. 	little 	 b. 	much 
c. few 	 d. many 

74. 	He had 	 friends, as he was an 83. 

a. accommodation 	b. acomodation 

c. acumodation 	d. accomodation 

aggressive person. 
• a. few 	 b. some 

c. many 	 d. those 
75. 	My aunt lived in that house 	five 84. 

a. emorous 	- 	b. emorus 

c. amorous 	d. ammorous 

years. 
a. with 	 b. 	for 
c. since 	 d. some 

76. 	I need 	more time to complete the 85. 

a. sorcuror 	b. sorcerer 

c.sorsuror 	d. sorsurer  

assignment. 
a. few 	 b. a few 
c. 	a little 	 d. 	little 

Direction : Choose the correct alternative of 
the verbs given 	in 	brackets from 	question 
numbers 77 - 82. 

86. 

a. receive 	b. recieve 

c. receeve 	d. riceive 
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87. a. audeceous 
	

b. audacious 

c. audasious 
	

d. audesious 

88. a. diskripency 	b. discrepancy 

c. discripancy 	d. discripe  
Direction : In question numbers 89 - 95, out of 
four alternatives, choose the one which can be 
substituted for given group of words : 
89. An unexpected piece of good fortune. 

a. to turn turtle 	b. windfall 
c. philanthropy 	d. fortunate 

90. Of unknown name. 
a. synonym 	b. anonymous 
c. unanimous 	d. incognito 

91. Exclusive possession of anything 
a. monopoly 	b. autocratic 
c. aristocratic 	d. monogamy 

92. A place for the sick to recover health. 
a. sanatorium 	b. stable 
c. granary 	d. arsenal  

93. Study of the interaction of people with 
their environment. 
a. ecology 	b. ornithology 
c. calligraphy 	d. cartography 

94. failing to discharge one's duty. 
a. recklessness 	b. dereliction 
c. submission 	d. reluctant 

95. A person who is an expert in fine arts. 
a. Conductor 	b. contemporary 
c. connoisseur 	d. artist 

Direction : In question numbers 96 - 100, 
read the passage and choose the correct 
answer from the options.  

Passage  
At every stage,SLV-3 team was blessed 

with some extra-ordinary courageous people. 
Alongwith Sudharkar and Sivarama-krishanan, 
there was also Sivakaminathan. He was 
entrusted with bringing the C-Band 
transponder from Trivandrum to SHAR for 
integration with the SLV-3. the transponder is 
a device fitted with the rocket system to give 
the signals which are powerful enough to help 
it track the vehicle from the take off site to the  

final impact point. The SLV-3 launch schedule 
was dependent on the arrival and integration 
of this equipment. On landing at the Madras 
airport, the aircraft which Sivakami was 
travelling in, skidded and overshot the runway. 
Dense smoke engulfed the aircraft. Everyone 
jumped out of the aircraft through emergency 
exits, and desperately fought to save 
themselves -all except Sivakami, who stayed 
in the aircraft till he removed the transponder 
from his baggage. He was among the last few 
persons, the others being mostly aircraft crew, 
to emerge from the smoke and he was 
hugging the transponder close to his chest. 

96. The speaker calls Sivakami courageous 
because. 
a. he was blessed 
b. he looked after the transponder over 

his own safety. 
c. the team was blessed 
d. the transponder was brought to 

Chennai by him 
97. The aircraft was in danger because 

a. it crash landed 
b. it made an emergency landing 
c. it skidded and overshot the runway. 
d. it was covered in smoke. 

98. Sivakami was the last to come out 
because 
a. he stayed back to bring the 

transponder safety. 
b. he was blinded by the smoke. 
c. he helped save other passengers 
d. he was in a panic 

99. The transponder was a device that 
a. was used to test the rocket 
b. launched the rocket 
c. was needed for the final impact 
d. gave the radar signals 

100. The transponder was needed in time. 
a. for the rocket to be seen as the radar 
b. for the launch to take place 
c. for it to carry out the take off 
d. for it to be integrated to the rocket 
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1-1TTIT '014Ta.  4a1T (02 - 3T) 

	 51 - 100) 

5t 59. Ri-if*Z.qo 	A t 	ct>.-1 	-,-1--ii 	R LI c11 v1 

t? 

-41-6-  1Kg1,1 TT 	-1111 pH - 

1. 	taq 	-0-r1zr 	2. 	\.3 \9111-1 

1. 	*ETA-  MIn(024T 	2. 	-c1761 -ciR-T2TT 
• c 3. 	ITra- 	4-1 6 4-4-1q 	4. 	Wr+-- 	fl-ff 

3. 	cOl
\ 
 ulict) 	4. 	*c1,-) 	(-1N-1 	3-Turn 

52. 60. R4--41*Z.c-r A 	11tiut -w----  t - `,411.11' OA LIL1igc114 t - 

1. 	341----4 	 2. 	1di 1. 	feuLT 	 2. 	4)101 

3. 	6Pqlril 	4. 	ftEdTRT 3. 	RcilcM 	4. 	#itt 

53. 61. 'dct-i 	6si 	61 	t' 	1:71T 	kcikl -vr---  P1-1 	cl A 	cicr 	t - 

-f4-c1 cplu-i - -TM-  *? 1. 	4-14-101 	 2. 	WV 

1. 	T-I 	ch I 0 	c.iclic-) 	2. 	V14Zir -).--A-  3. 	-ii- 	 4. 

3. 	\3gLigct)R1 	4. 	#T1 -1-  \SENId 

54. 62. 1:1)69 	41101 	‘311 4 11" 	1%---ii 	faZTT 	c61 	T-1-11 

t? 

-t-) 	-.1--  -ti 14-.-1 	cl # 	341-4Tff (d t- 

1. 	qc11 	 2. 	qIcl 

3. 	3fiRT 	 4. 	c01-1 1. 	\i4-qH-1 	2. 	WOTt 

3. 	3410=Muf 	4. 	REizT 

55. 63. .R4-11{Z.Icl # A-  tZ11 -ZT---  t' - 14--11M-6d A -R)-  (61-1-37 kN) 	1,sqleicim 

t? 
1. 	+Heil 	 2. 	Lzildl 

1. 	\31-11-1 	 2. 	411-14)0s01 

3. 	TILT 	 4. 	Rip- 
3. 	31----11Wr 	4. 	-11-1c-t) 

56. 64. '1k4IL11' Wfl-  .11tcl-KON 4 -iit,e4pra t? .-.'5T taT c) 	1-# cildi ct)6c11c11 t - 

1. ItrE9-  -R-r--vr 
1. 	l'a--m 	2. 	zil-en- 

- 

2. ‘51-RIcti 	W1Ic 

3. \3a-- -1121-  3T1  3. 	' - c1- 	 4. 	'IV 

4. v1•114)1 	T•iq TITT 

57. 65. P4-1 1-. R..c-i A A •e.1) 11 t) 	Vi.- 	-fl-et t. -  -ZSV-T 1-4-.r1 f' i RI cl 	I-#1az1 	A- 	ci 1 WI 	01 

1. 	4l d €1';6 	 2. 	vielv1 -49--cl-f•A- T - 

3. 	sfl 4-1c1d 	 4. 	Lichvi 1. .1) 	ct)) 	4 Tc14 	riR I 

58. 2. 7TV1-  A 4.14-1 	.1, )q..-11 	ti i*-11c 6c1 # A-  *cN-R=1fq TT 	c.t) #4 

.-1 a 	t - 3. q6 	c) 411L1 TT SST t-  I 

-M.  1. 	4'TEi #I4 	2. 	'IA ul T4 4. )tr chi 41Id r-dRi qc.INI 6N141q g3TT 1 

3. 	Liul 3114 • 	4. 	FaRiTic  Af4 

Page 14 of 32 



66_ 75. '7-TRU c. 	- 't-14-11,-1 	litT9 	T4-4 4 	circico 4711-  Uq 1?i qullc6 	*I q.szl I At-  t - 

1. 	18 3)-  21 	out 	2. 	22 3)-  26 clu -.T-- ctl-i -TIT *? 

1. 	9--e9 	 2. 	1-1-Rd 3. 	14 'O.  16 	qui 	4. 	27 3)-  32 	c.I ui 

3. 	tI411,1 	 4. 	1 

67. 76. 711:PtR. 	-qtf-S7 	f* 	\31.4-1 	co 61 	gaff 

2-TT? 

-zi--  1-4--iraiZAct A-  34 cm-p-t 	t - 
1. 	\31)11- 	 2. 	.1-c-1 

1. 	VIRIT 	 2. 	a6'<let, 3. 	'i C1 	 4. 	ON 

3. 	31--I-#R- 	4. 	cr)) oi ct.)-(11 

77. 68. Vi-471): 	-t 	'd 	cl 	V 	-ft-q I 	cl I cN-I 	# ii-,-1 c i Ii ci -4 t tWt qfllq akth 4 

_qii4)k-i 	Liq 	4.-1-Al 	• -i -ii t? -r.1.11 t - 
1. 	Ancirc4ct, 	1v 1. 	31-dtu* -cieif -A 
2. 7-1-1-qqM-T ‘ -1 -1 I 2. 	194741.  

3. 	czi WI clIT-1 cri 	.d"11 3. 	4/33T4 4 4.9e1-i 
4. 	9It 3) cl") 	The 4. 	WI--dW 	1 I .---)1 

69. 78. "Tfit # To N 4  RI 1 t 	- CI I CleLl 14 CA '1 fftIT 	716q t - 

,11 Ti-49-fri t? 1. 	\h) 0 
1. 	1 -cmcii-c4cr) Tr4-9-Fr 2. 	TI.IPM 

- 2. ' 	J 	31-4-9-Ff 
3. q) +I 

3. 	'fl..siZT-41-qT TI-4-ffm 
4. 	Tff# * (1')) 	il gi 

4. 	'M 	clIT-1 ct) 	Ti 	P=1 

70. 79. 1-buNcN.112T 	1-J..1 chi -fi r-.19-  1I-  clti g3-11-? 

1. 	1975 	 2. 	1979 

3. 	1965 	 4. 	1977 

14---11fZE-1 	4 t f+-39- 	• -c4-11 	LH Ti4----4R- 
q -IIQI 	fl cl-t) -H 	ct)) 	-R:fritTzl- 	Sicr4t 
rt-cPN fira-r? 

71. R 4-11- R.qo 	# 	tf 	f+-71 	1:FiT 	'141 q .1 1. Trail 1T trl (I) +I 

#171T - 3-T1-  -11---q 	9gt it-zrr? 2. \Yid 

1. 	6*I 	 2. 	OPP 3. Q1.41c1 TT q 

3. 	vii4ku1 	4. 4. T3T191 •1 c5") 

72. 80. qd-41-  c6) ift 3)-  ch1.1 -TIT 7f 	Tit The 

t? 

3 -0-(.1 k °I VI 	TT Tit TaT ft-43\ -q-  61 I- 

1. 	\id + -clkul- 	2. 	\3cI + TINtil 
1. 	Vt)6 	 2. 	tic 3. 	\3-c( + zikul 	4. 	3U=1.  + T1 k u  I 
3. 	4RuIcil 	4. 	IIU4ch 

73. 81. 1.4-.11- RAc-i 	A Tl- 	-Id) 	col 	kmiLicircll 	-q-r-.  \3erit1.1 # 317141 3cRil-f t - 

•-le t - 1. 	‘.3c4 	 2. 	.3c1 
1. 	31-Rdr 	 2. 	Uft41- 3. 	%.1 ovi 	 4. 	\ioti 
3. 	cl' 	 4. 	. ----f4 

74. 82. '3-TIZq t-4.1.  61-11' T -1- 	OA 3T2 t - 6 	;Mt-  * 11-49 4 4M 31 71.  

1 . 	el RY‘Ii d 	6) '1 I qrjr t4 t .1 I t I - qWf it 	•414)c-1 3T#-- 

2. T1T-4:A 9-  31-191-  - .zr-.  -VF-4 -. f' 	1ch 	14Ii• - 

3. 4-q-  .CS6-  \31I'1 I 1. 	,thRcico 	2. 	31---41- fifkff 

4. qr ct) +1.  -ftqA1-4 4...11 3. 	Ff0-0:1-dT 	4. 	34-rroTfa 
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83. TC-04 5T 1 i lT 	- 
1. ,nul 	 2. fapf 
3. .git-pf 	4. ft-T-1Z 

84. 'fiUM  	 1;Wft.d.  

85. 14-.-11W6c1 43-4Its.q 4 30 
411 -

1. T1 111 
3. ct)410 

86. R -1(1RAci 	t f 	clicv_i 
frr 	t? 
1. tI 
2. . -1)6-1 HA 	61 t I 
3. VI ,1/49I4-11.1 \361(1I t 
4. #RT  4  ,)Ei  

87. '41=f-- c - ct)(111 cif ftfulTer 
- 

1. Ttf-6-9. 
	

2. 3pj-d ,w4 
3. Z-1-97ff • 
	

4. 3ittiff 	 

89. qc1 tdsq - c4vI-1 
1. 	 2. 
3. b- 
	

4. VI 

90. cp-'14nclIcloW 	curl7itff Tit 

1. 	qN-1 	2. qcltnqki 

3. Liqilc." 	4. INT-4T 

91. '#169. 

	

	t 41-e 	 oicte4 4 
- TIT 4)1'01 t? 

1. 311-41-qH 	2. 4)4 
3. Th7v1 	 4. (Mil 

92. coi(4114-4' # 0-1 - TIT \J-1411 -1 t? 
1. m-Auffr 	2. 

3. 401-it 	4. 3-Wit#T4  

93. 1 4-11-W1c1 # 	F+-RT qr-a-4 	mf qui 
Tem-  pir t? 

1. 41-6-9-  N51 1iI 1c karWi t 
2. *1)6.1 31-1,E5T rl 5 ch 	I t I 
3. 3ITUT qii 
4. cl \31 	6'1 Ter P-ir  I 

94. fif%ci 	t 	 

1. R-- -111311.  
3 WI 

95. 'ffffpft -4 	 u Isfl 

	

1. Trakt c1111 	2. 	-T.r47 0-1 
3. '<l c.1 tlicpc4R1,-1 4. L17ILIIo1 

- 	 cb) alrff 

1-I c ( 	f 	TT7 	 ‘-it.c41 96 tr 

loo dcb) 	 (act)0441 

	

3INT7 	*1 TAII 

. Tfit71-  4 t4H R3rIt tit t, uRT- r 
31-d-r1Wrr, 	3f1- 	49t *, 
if4zTrq--crigt t 1 .3,) 

q-ft A 161 2416411I -1149- 
t, 	.31-9t *, 	*, 31-Trm t 1 

-R-fritT4 4-11N 4 	 t, 

t3 	 t 	 *1 

11 111c411chl3TEr4 	colwUIl 	 t zfr 

c l cff 11qu4 
3-{r4-4 uic41616 * I j wr -uc--74 	31rT 

*1 4-1T4trzi- r 31-r--4-q 4 er 

(1411 '?6c-11 t 1 f+--÷i't chl cI6  	ar 

*, f -Rft 	 of 	-4, Wr 

4)) 	 Wr Cr;) trfq?J 
-ffritTzr 	 *\,131-r-4q1I - 

*, 

 

	-crfa 	 31-RTH 	 

t f 	r*1 	31T9q 	-q-zrI-4r, 461 

3TIT c4 ^i ct, 1, TiTit7f- 	3tPjf t 

2. -GIN 
4. 	\ -̀1 

2. IT*0-R.  
4. WIR.  

88. R4--11*Zio -4 

Rtn-rr pfr -
1. fd-w-a.  
3. 

2. 
4. ftff7i  

clui 011 \3q161 * - 

2 31-q4).  
4. ch--1 
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96. 4 1 Y-INI 	1 	RT4tr 	'-- chl 	ft011=1 99. 	41 yi NI 	ct) 31—gil7 Ti 11cl) 4ft # ctql 

6 4 11 — ti cal .9—ef *? 

1. s -ilic-LI TusEr 4 TIft ti 
1. 	4-kul 	 2. R-671 

4-al 
2. tl I i cal 4)1 3I-M17 At-49' t I 3. It 	4. 
3. 	s1 I[ 	19-Tszl- 	Tffi v1c11616 t.  I 

97. 4 1 Y-INI c, 	31-IR-TR 11-49-  cM1 .fftt *? 4.TITitTZT- 	31-4ff t 1 

1. 	3T RT 	 2. 31-4)-af 100. 4k411091 Vr 	# 7z-J1-0 -  -R-114 Cm -1141 * — 

1. 	4,01 TR( 	2. 	"ftlif 	=i-Rf 
3. 	q)"9 	 4. 31-ITTEI 

3. 	zIUI 7#4 	4. 	t-E 3:114 

98. 311VR 

• 

TfljtcTi 	31T9 	ch I -f+--i 

th---J—d-r *? 
1. t--q 	3117 t1 cal t 
2. c..-1 	31 	f t 

3. --V-4.4 t 	• 

4. --# t cp14 
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SCHOLASTIC APTIRUDE TEST (SAT) 

if 	7:4)-TTfUT 1 °Mr 

(QUESTION NO. 101 200) 

(c179-  tk-q-41 101 - 200) 

101. 	If a body is in equilibrium under the effect of 
some non collinear forces, then the minimum 
number of such forces acting upon the body 
are - 
1. 	3 	 2. 	2 
3. 5 	 4. 4 

101. -Eff - 	c.t) ck-q Ty 	a" JTo) 	- c f 4f r a -4 

--i 1 t-q 	314R--2-fr 	# 	t- 	a 	\3,o 	cN-k1 	co 1.) 

--A.  "Thi. 	-j 4-1 	-iCq-11 	t - Oft) y 	 - -ic1 

1. 	3 	 2. 	2 

3. 	5 	 4. 	4 

102. A heater coil is cut into two equal parts and 

only one part is used in the heater the heat 

generated now will be. 

1. doubled 	 2. four times 

3. one fourth 	 4. halved 

102. 	c-t-> 	-6)Z-R- 	- 1- 	T-',Ut 	ct)) 	q) 	€N16N 	'z-TTIff 	-4 

cl)Itl 	uilcil 	* 13T 	ccici 	c.1') 	q -r-IT 	c 	SR-. 

14 	-q-g--4Tr 	f ---zir 	,3-i Id 1 	t-  I 	31-4gl-- 1-  

c*R4d -utsiTr 4,1 -4-r9-  6)4 11 - 

1. 	4 I.-11 	 2. 	--c-I k 	-TM 

3. 	ci-) 	-(412-11- 	4. 	aTTUT 

103. A 	bar 	magnet 	placed 	in 	non-uniform 
magnetic field experiences - 
1. only torque 
2. only force 
3. both torque and force 
4. neither force nor torque 

103. 3.RiliN 74-Thtzt 	# 	_.q I 	JRI1T 	4) E5Z 

74--. 	cl-)c-11 	t 

1. ccic,1 	31-rvi 

2. curl s  

3. -q-- 3f1 	Lci 	GI Qi 	q)-II 

4. -q--  3.N 	31-171- 

104. How much water a pump of 2kW power can 
raise in one minute to a height of 10m? 

2  (g = 10 m/s) 

	

1. 	1000 litre 	 2. 	1200 litre 

	

3. 	10 litre 	 4. 	2000 litre 

104. 21-4)(-1)clIt 7-1%1-  4)1 	Leh 717 Bch f49Z # 

''r 10 	41 	4;z11 - 	c-Ic-1-) 	f --d-91' 	ulc>1 	\3d1 

'-ici,-)cl 	t? (g = 10 4-1)0 ft02) I 

1. 	1000 -A-CR- 	2. 	1200 

"A 3. 	10c 10 -A---t-R- 	 4. 	2000 

105. The Kinetic energy of a body becomes 4 
times 	of 	its 	initial 	value. 	The 	new 	linear 
momentum will be - 
1. Same as initial momentum 

2. Four times the initial momentum 

3. Two times the initial momentum 

4. Eight times the initial momentum 

-c1171 	--- 105. 	tif - 	c-H-q 	Thi 	Tri'd 	3,,\Ti1 	\31c1-) 	4 

TIF 	-['r 	TAR 	--rr 	ci-, 	qc1 	\rip) 	ci) 	\x-14)1 

-9-zfr 	--ftr-- 	s-i 4 1 	6) 4 11 	I 

1. -1;ITRMT 	,t--i 4 1 	c1),  s-14-11-1 

2. .CITTP4-1-- 	,-i 4 I 	4)1 	-c-1k 	711- 

3. q1R-141 	'--i 4 i 	chi 	MITITT 

4. 71-R*-. 	4 1 ct) I 35 TM 

106. In a simple pendulum mass of bob is m and 
effecting 	length 	is 	L. 	Work 	done 	on 	the 
pendulum 	in 	one 	complete 	oscillation 	in 
gravitational field of earth is - a.)--  
A 
1. 	- 

1 

4 
mgL 	 z 

,
. 	- 

12 
 mgL 

3. zero 	 4. 	mgLmgL 1 

106. 	Bch 	s--kel 	a Oct) 	4 	ado, 	4,1 	c?,-1 4-11-1 	m 

-d-2-fr -cp-frt -- i-r . 	L -g I 
	
'2t 	ci) 	4,v,c-cilciAul 

# 	B ci') 	Tii 	q)e1-1 	1 	c,i)Q-14) 	t-k 	f -zrr 

TRIT m-r 	-g-  - 

. 	
1  
- mgL 	 2. 	

1  
- mgL 

4 	 . 
3. zero 	 4. 	mgL 
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107. The mass of earth is 80 times that of moon 

and its diameter is double that of moon. If the 

value of acceleration due to gravity on earth 

is 9.8 ms-2  then the value of acceleration due 

to gravity on moon will be - 

1. 0.98 ms-2 	 2. 0.49 ms-2  

3. 9.8 ms-2 	 4. 4.9 ms-2 

107.ipet 4)1 	c c?-14-11--1 	-c-I- 4-11 	c)-14-1M 	chl 	80 

- 1-R-i 121T1T 	t 3-1' 	\-1 (01 	a-1 N-1 	-E4--4-11 	* 	4)1 

tITTIF t I TIR Tt 	--41-24 Lk 11-- 	cckul 	Ohl 
 

IT9 	9.8ms-2 	61 	cl) 	T-1--4-11 Lk 11---41-zr cckul 

2. 0.49 ms-2  

4. 4.9 ms-2 

4)1 	ITI-9- 	it 4 11 	- 

1. 	0.98 ms-2  

3.. 9.8 ms-2  

108. Two lenses of focal length f1  and f2  are kept 

in 	contact 	coaxially. 	The 	power 	of 	the 

combination will be 

./1 fi ,f2 	 ±./2' 

108. fi 	q .f2tb--)Thi -0- 	C -) 	q) 	Q41 	c.1-) 	c-t) 

T1-1:1 	4 	ffiel-zi 	4 N) 	* I 	C4 11 	*'d 

-i.i) \3-1-1 	- r 	)-eF1- 	- 

f -f- f2 2. 
1. 

f + f 2 

f f) 

2. 
.f .f2 

4. 	f + f2 

1 	fif±f2f2  

fi f2 

fi f2 

4. 	sl, + f2  
- 3. 

f -.f2 3. 
f -f2 

109. In fig. a ray of light undergoes 
medium A to medium 
in medium A is v then 
medium B will be - 

60° IL 

refraction from 
B. If the speed of light 

the speed of light in 

N 

109.  1:---  A, 	4 	i cf) M 	7u1-  ITRTITI A t 1217TM 

B 	43Tur-4-ff-d- 	-o---01- 	* I 	Tri: - 	A 	icflw 	14 

.1c-1-)11 	. 1- 	Tif - 	v 	61 C11 	-1:17-Tirf 	B 14 144) M 

N  

Y X 	 60 '416, 

2 v 

30° 

V rr 

	

1. 	-Niv 

	

3. 	2 v 	. 

30° 

N1 

V 
2.

3. 

	

2. 	r- 

	

4. 	
v 

2 
4. 	

v 

2 	, 

110. A body falls freely from a tower and travels a 

distance of 40m in its last two seconds. The 

height of the tower is - 

(Take g = 10ms-2) 

	

1. 54m 	 • 	2. 45m 

	

3. 80m 	 4. 65m 

110. c-1) 	.41-9.-R 	k 	--c.1 c-1-*-11 	ri& 	firRt 	ck-cl 

3.Tfi 2Ic,-.) 	# 40 41)0 Thl-  It c1 .1 Th-ed1 

	

2. 	45 10 

	

4. 	65 4)0 

t I -4r-ffrR- 	4,-c4 t-(g.ionis-2) 

1. 	54 	4-1)0 

3. 	80 	4-1)0 

111. The resistance of a wire is R. After melting it 

is remoulded such that its 	area 	of cross 

section becomes n times its initial area of 

cross section. its new resistance will be - 
R 1. n R 	 2. 	- 
n 

3. n2  R 	 4. 	
R  - 

111. f11- 	tik 	4)1 	qttIV 	R 	* I 	N-iclIct) 

tq-FT 	*I 	cl-)k 	q, Hi 	vim' 	* 	*1c1)1 

ct) it 	 ;R-2 	4)1 	n  3-1TR--Q-1- 	&-)--1:1" -40-  3-T--fT-d 

n2 R 

-41-0-rr 	vim! 	* I 	-icl-)1 	-Tf-r -rfedi 	6)4 11 	- 

1 . n R 	 2. R 
n 

 
3. n2  R 	 4. 	- -2- n 
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R 
P 

S 
1. Concave lens 
3. Convex lens 

2. Concave mirror 
4. Convex mirror 

112. Which of the following is/are true for an 
ammeter 
A. An ammeter always reads lesser than 

actual current. 
B. An ammeter always reads more than 

actual current. 
C. An ammeter is always connected in 

series because it is a low resistances 
device. 

D. An ammeter is always connected in 
series because it is a high resistance 
device. 

1. Only A 	 2. A and B 
3. A and C 	 4. only D 

112. 1:-Tf 14 7)-  ctl-r 	/ c61-1 

m71-9-rcit 	 t 

A. URTTIrcit 4)1 4-11t-I -6-44t-1r 	Jim 

ZTf 61it *I 

B. UTTi:FItt ct>1 4-114eqTif c11 -cac4-) 4-H-1 

-R4 31-ruT.  6)(-11 	I 

C.1 	4))TT-47-ff 9;i-tilt 
	 ft-qr ,11c11 t I 

-Ttra) 	 qrd-R)-u 	61di * I 

D. .-T-F-PITITt cf)) err Oft W4=1- 14 

,14-11z-11110 	T v11 c1 II 

	

*-1c1-)1 grata 	6)01 	I 

1. 	c ci cri A 	 2. A 	B 

3. A 1 C 	 4. 	cl-Kle-1 D 

113. Two light rays P and Q are incident an optical 
device 'X' which finally goes along 'R' and 'S'. 
identify optical device 'X'. 

113. 	 P I 0 	.) qc1-)1 RI 

'X' LI 3T-Ffd-ff tth 	\51 I 31---1=1 	r 	R 

S 	f1124 f1121- 	 1 1.14)1114) 

'x' 

2. 3f1c 7T4 

4. 	rcic-i 

L16 T-11-I ct) 	- 
R 
P 

S 
1. 31-Td-6.  
3. \3-ciri c-11 

114. Work is said to be done if the force and 
displacement are 
1. Parallel to each other 
2. opposite to each other 
3. inclined at an angle with each other 

0 (# 90°) 
4. All of the above. 

114. 	f T ART 4,61 ,t 	 * Trft 

1. fl 4-11-11-m 61 I 

2. 6) I 

3. t-) c1S1 	m-tur 	61 
0 90°) 

4. \3t-i1ct-c1 Tit 
115. Which metal is used to connect solar cell to 

solar panels 
1. Gold 	 2. Silver 
3. Copper 	 4. Aluminum 

116. What is the correct electronic configuration o 
Cr. (At No.-24) 
1. [Ar]18  4s1  3d5 	2. [Ar]18  4s2  3d4  
3. [Ar]18  4s3  3d6 	4. None of these 

115. --44 	0-1-4 	 s)cyi 

7)- 	*1 
1. 	,-11.-11 	 2. 

3. chluk 	 4. (--2 -*-14-1 

116. Cr. (1171171 	24 	1c-1)1 

1 
1. [Ar]18  4s1  3d5 
	

2. [A115  4s2  3d4  

3. [Ar]18  4s°  3d6 
	

4. T*i 	Tgf 

117. Nature of A1203  (Aluminum oxide) is 

1. Acidic 
	

2. Basic 

3. Amphoteric 
	

4. Neutral 

117. A1203  (Y-Af-4_44-i 

4\)ti t I 

1. 311 1-Z1 

3. 3-4-1-7jf U4-41 

2. afFt4 

4. \314-1 
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118. What is the pH of dil-HCI solution which conc. 
10-8  MoL/L. 

	

1. 	7 	 2.8 

	

3. 	6.98 	 4. 	10 
• 

118. 	c.1-) 	riqr-1 	r)1R14 	10-8 	Tl'IF 	q-1 - 	16--- 	*, 
0.- (11, 3ff4-  pH WIT tFl-ft I 

	

1. 	7 	 2. 	8 

	

3. 	6.98 	 4. 	10 

119. Which colour appears when few drops of 
phenapthalin put into test tube contains lime 
water. 
1. Yellow 	 2. Orange 
3. 	Pink 	 4. 	Colourless 

119. ct)1,-1- -11 	4 I 	3TT\-u1T 	---4 	1 	g  

T,E5. 	\3 --1 	t-ls 	-I A 	-4 	-1-'t. 	ul N 	f ---*i 

TO 4)1 T-1741-  q-TR-r 0 I 
1. 	Ir- F 	 2. 	T1--d-tt 

3. 	. 	 4. 	.t4-Fer - 

120. Which is the correct answer, if n=4 (Where n 
is number of shell) then no. of slab shells and 
electron present in atom. 

	

1. 	16, 32 	 2. 	32, 16 

	

3. 	32, 32 	 4. 	16, 16 

120. l -Tf 	4 	.)- 	ct1-1-th 	Tit 	3-(-N 	0'11 	Q-0 

n=4 	(n 	sc,1). 	- t 	't-k.-q-11 	*) 	3c1-4F 	3.fi-R- 

(,)c4- )--i).  .. r-M1Tuj 7 	-kq-1 I 4-41-  eFft I 

	

1. 	16, 	32 	 2. 	32, 	16 

	

3. 	32, 32 	 4. 	16, 	16 
121. During preparation of soap, sodium - is used 

as 
1. Precipitate the soap 
2. Dehydration of soap 
3. As a catalyst 
4. for smoothness of soap 

121. 	11141cu1 	m -r4f4 #," sa3-14-1 	4)1 	3 1T 

001 t - 

1. TIT- 	0)1 	31-qa)-c19. 	cl.) ,) 44 

2. .i-F- 	* {- ul- ActP0-J1 -41 

3. c.f-) 	\c-t)c4-) * W=F 4 

4. T1T-1-9. 	ir-W9-F .  q7d-14 -4 I 

122. Buckminister fullerenes is 
1. Isotope of carbon 
2. Isobar of carbon 
3. Allotrope of carbon 
4. None of these 

122. 	Lt),(-1--1 	cicaf -t 	4-41-  *, 

1. m--r-4- 	TITI-R--QT 
2. vWF-4- 	1 Ti-424-TTftT 

3. 4)14-1 	4)1 	3713----cr 

4. T-34 t cl-)) 	I 

123. Which salts are responsible for yellow colour 
of Taj Mahal in Agra due to Acid rain 
1. CaCl2  & CaSO4 

2. Ca(NO3)2  & CaSO4 

3. Ca(NO3)2  & BaSO4 

4. CaSO4  & BaCl2 

123. 	'ffif # t 	c.t1,-1 	-II 	ciciui 	31TTNT * 01\3-1 4-16rf 

4)1 	Ir-d-r 	,41 	ci->sr) 	(4,1 	\3-c-NqAcci 	t I 
3tTAI-zi TEif 	g1'1.1 - 
1. CaCl2  & CaSO4 

2. Ca(NO3)2  & CaSO4 

3. Ca(NO3)2& BaSO4 

4. CaSO4  & BaCl2  

124. Which of the following are the Green house 
gases 
1. 002, CH4, N2o & o, 

2. CO2,0ctane, Chlorine, Nitrogen 

3. Methane, Oxygen, Helium, Neon 

4. Nohe of these 

124. 	-11 	-4 	-R)- 	ci- --1-4 	LI1M-EI-R- 	74-Tiq 

r 	3-cNqi41 t 1 
1. 002, CH4, N20 & 03  

2. 002, 	cM)R-1, 	•-13-1-1 

3, 	A2m-, 3t1-4,ft---9-, fAq4-1, 	F 
4. 	T--14 t ct))4.  ' -ef 

125. Which of the following sub shells present in 
atom 

	

1. 	s, p, d, f 	 2. 	a, b, c, d 

	

3. 	s, d, n, g 	 4. 	None 

125. 	ffil. 	"44 	chi-1-4)1-1 	fl(s1ct)11 	SITU 	f 

yA 4-11-1 	61c) 	* I 
1. 	s, p, d, f 	 2. 	a, b, c, d  
3. 	s, d, n, g 	4. 	ON 	--if 
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126. Which elements are used in Atomic Reactors 
to control the speed of Neutrons 
1. Boron & Cadmium 
2. Cadmium & Aluminum 
3. Boron & Iron 
4. Sodium & Potassium 

,3-fi 	t I  

126. 	' --q# ti ct>)-f t 	Oct.' 	1:MTTY 	‘0. -1:i 	# 	j--- rq- 

in- 	ct))' 	inc-1 	c4-).) 	cb 	fa7 	\3t-1 -114 1 

f+--  
1. isiki-r, 	c114-f 

2. 1-4 4-f, 	cq-jf- f44-1 

-1.-1, 3. Ei'l 	3171-R-9- 

4. X1Aq41, ti)DH-14-1 
127. How many atoms are present in lkg of silver 

(Atomic mass of silver = 108) 
1. 2.03 x 1023  atoms 
2. 5.57 x 1024  atoms 
3. 4.27 x 10-23  atoms 
4. 6.23 x 1023  atoms 

127. 	1 	-f1-1- 	4,1141 	tt # fit ER#T-01 --ci-R-2-T-d 
1.4sl 	I 	- 

1. 2.03 x 1023  ERTIT-7 

2. 5.57 x 1024 7R-97j 
3. 4.27 x 1023  ITRITTuj 	 . 
4. 6.23 x 10231171:17j 

128. Which 	of 	the 	following 	carry 	hereditary 
characters to the off spring in the organism? 
1. Ribosome 	2. Chromosome 
3. Plasma 	 4. Lysosome 

128. 	-11---4- 	-4 31-1--aif 	.-afu-i- f+---€ * 	-i-R-T ,101.-1 

-41. c, \3-II 	u-I10 	t? 

1. 	14--  ci) a 41 	W-RT 	2. 	st) 4-1)a 41 gl-RT 

3. 	Lc11\-3-411 grU 	4. 	ei I * -1\I a41 	0-- T 
129. which organelle of the cell is called the power 

house of the cell? 
1. 	Cell-wall 	 2. 	Nucleus 
3. Mitochondria 	4. Complete cell 

129. 	ct))D1cf)1 	4)1 	cf-)1-1 	a 	liTTT 	71-q7 	1\31 
cl-)c,11c11 	t? 

1. 	cP)DIct)IPlff- 	2. 	ccch 

3. 	-il*t)cf)-IPOI 	4. 	TilTkul.  ct.))Plc-1)1 
130. Plasma membrane is made up of 

1. Protein 
2. Lipid 
3. Carbohydrate 
4. Both (1) and (2) 

	

2. 	-  

130. 	L-Q11u-4-il 	ft----A't 	--4r 	--̀di-  * - 
1. 	r-e1-9-  T)- 

-r -f4  

3. c1)161161t t 

4. 611--1I 	(1) -ff2 -1 	(2) t 

131. Which 	of 	the 	following 	is 	the 	site 	of 
fertilisation in humans? 
1. 	Uterus 	 2. Oviduct 
3. Ovary 	 4. Vagina 

131. 	4-11c1 .4 1 	1.1 '''t it--zfT chg-i 	t-k tit t? 

1 	TPTI7R1 -44 	2. 	31---q-rft--4r # 
3. 	# 	4. 	-1)1.-1141 	# 

132. What is the time of rest in the heart? 
1. Never 
2. While sleeping 
3. Between two beats 
4. While doing yogasan 

2. 	aCi 	141H-1  

132. 	-6---z1 	----4 3ll7lii 	cl->c11 	t? 

1. 	Th'll'i 	-jef 

3. c1 	q.. 4)-11- 	c.. 

4. TI,fil 6t 3TRT-1- 	ct.)c-) 	'14-i q 

133. 	Lacteal 	present 	in 	the 	villi 	of 	the 	small 

intestine : 

1. Help to absorb fatty acids and glycerol 

2. Secrete enzymes for digestion 

3. Secrete hormones 

4. Help Help to absorb proteins 

133. §-q-i- 	* 34-T7 -44 Err 	u11‘) 	qft 	c'Ict-c)qd 
ct)I '74 * :- 

7 1. -q--41-4 3,41= 	4 	Rd ,-i s) 0 	Ohl  
374Tel-qui 

ii 2. til-q 	-z)- 	.-.)-ii*4-i 	4)1 	TIT4 

3. -171:1)-9- 	ct)I 

4. 71-er 	314"&sful-  it '16R1c11 	ct)s-11 
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134. How primitive life might have originated on 
earth was experimentally shown by 
1. Urey and Miller 
2. Watson and Crick 

. 	3. Oparin and Haldane 
4. Hershey and Chase. 

-04th.  134. 1:124t 	-ER 	3T472,119. 	11-49. 	c6) 	3ct•)) 

51z1) 411c-4-Ict) q4 # -q-d#ff f+--zur P_Tr :- 
1. 30 fkd-R- 
2. ci 1 e 	-I 30 ft--- 	-4 
3. 34)-crft4 3N ge.-1 .4 
4. 30 - ‘31  

135. Bicuspid valve is 'present in the human heart 
in between which of the following :- 
1. Right atrium and right ventricle 
2. Left atrium and left ventricle 
3. Right and left atria 
4. Left atrium and systemic aorta 

135. 	4-11.-10 v--qTf # fc.pt_ilae.i 	clle,c1 	t9-# t fr 

r+-ff * -4m Hiq vm) t? 
• 1. --FrO 31-11 -  30 .-Fr8-4 rfid-zi * A'm 

2. -(1-z 31Tf4q-  30 6.114 f --6-zi * 	T4 

3. N 3 	r 	c .)  q0 GH) 31Trq 	t-  

4. -(rf 31-e---q 3N. -49--6-RiTit 
136. Which 	of 	the 	following 	products 	of 	light 

dependent phase are used during the light 
independent phase of photosynthesis? 
1. RUBP and ATP 
2. H2O and 02  
3. NADPH and ATP 	 . 
4. ATP and 02  

136. 	14cPRI 	.1 4-17 	T 	c i 	c01-1 	41-1 	t 	\10-11q 
-ucrzi)Tr .crwm 34-F-iir4-R.  .q- ur * 	9WE 	# 

3flt t? 
1. RUBP 30 ATP 

2. H2O 30 02  

3. NADPH 30 ATP 

4. ATP 30 02 

137. Grafting in monocot plants is not possible 
because they have :- 
1. Parallel venation 
2. Have only one cotyledon 
3. Have cambium 
4. Have scattered vascular bundles 

137. 	t ci-) 	t-. 	4-)1) 	rIWf 	# 	cOrill 	0411-11 	Ti7-17 
--ef t qz111 	:- 

1. --9-4 ( fli1i-11.-c1' 	•NM-  f4-1-Ri 6)c1l t I 
2. T914 cc.iri lc,  t-.-- 	t-i1 	6-If t I 
3. T914 ct)1-6R14-1 6)c11 t 
4. T9-4 '(1c15-1 Gkci ft0-d" . 	6) t I 

138. Haemophilia disease is linked with :- 
1. Sex chromosome 
2. Autosome 
3. Bacteria 
4. Virus 

138.bc)1-1)L6nql 	4 I 	1-4 t>r-T-d-  t I 

1. 1WTfr Tiffp t 

2. 3TfWfl.  Trip T)' 

3. 6)ci-c5) NI (1r-a9) t 
4. qlt3=1 (iTuj) t 

1.39. The primary building blocks of DNA are 
1. Nitrogenous base, phosphorus and 

ribose 
2. Nitrogenous base, sulphur and  2. 

deoxyribose 
3. Nitrogenous Nitrogenous base, phosphorus 

deoxyribose 
4. Nitrogenous Nitrogenous base, sulphur and ribose 

139. 	79- 	* 7-12..Tftr 	"ftlifilT R3'u' 't 
1. •-il*Oui-i) al17, 4)1flt-h),M 30 
2. -11 *0\71-1) UR,  flc- 	30 

3. -11*Ovi-11 UR, t-bkit-h)1 30 

4. -110 	-1) a-TR, fl c-t-t-) 	30 TP-)---  

140. Which of the following helps in formation of 
insulin :- 
1. Islets of Langerhans 
2. Pituitary gland 	 . 
3. Thyroid gland 
4. Adrenal gland 

140. Ttfa-9' c.01 	ict-41q.-1 WM vlIcil * :- 
1. 31-1 *7{i NTT el414ti 

itzpf 	4 g 2. 10 	m  
3. 	2TTW17:43.  ljf4 UTRT 
4. 	3Tf. Nff) 1114  TU 
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141. The value of n for which the expression 
x4  + 4x3  + nx 2  + 4x +1 	becomes 	a 	perfect 
square is 
1.3 	 2.4 
3. 5 	 4. 6 

141. 	n 	Th-T 	c16 	4-11-1 	-1 --1* 	-1r 	c4i\YI ct) 
x4  +4x3  + nx2  + 4x +1 	c.-1' 	1:0 	cJ 4[ q9.  • \31 N, 

tl 
1.3 	 2.4 
3. 5 	 4. 6 

142. Deepak's salary is reduced by 10% in order 
to have his salary back to the original amount 
it must be raised by how much percent? 
1. 8% 	 2: 10%  

3. 111% 	 4. 123% 
9 	 7 

142. trcl- 	T 41.-1 	10% t-it 4R11 t 133i- 	cIclri 
ch) 	.1%7 t 	ciit-Ki 	\30.-ii 	61 	4914 

mfic-i 	Eigimi 	\TIN? 
1. 8% 	 2. 10% 

3. 111  % 	 4. 123% 
9 	 7 

143. Suppose x and y are positive real numbers 

such 	that 	x-\/. 	+ y-17), = 183 	and 

x lry + yfx-. = 182 then value of -18
(x + y) 

5 
' 	is 

1. 73 	 2. 146 
3. 63 	 4. 126 

143. 	4-ii-ii 	x 	2-,TT 	y 	- r-iT1 	ziffrc 	c1Itc1Rct) 

tiszilq 	t 	D-, 	x-,/Tc-F yry =183 .2,TT 

18 (x xry + y,1-  = 182 , cH 	+ y) 	T 4-11-1 
5 

*1 
1. 73 	 2. 146 
3. 63 	 4. 126 

144. Let m and n be integers such that all the roots 
of the equation kx2 +mx+ 20)(x2  +17x+ n)]= 0 
are negative integers. The smallest possible 
value of (m + n) is 
1. 24 	 2. 20 

• 3. 25 	 4. 32 

144. 	4-11-11 	m 	..2.TT 	n 	r-4 .Tra-- 	t 	R) 	*P4)ct)1 

{(x 2  + mx +20)(x 2  +17 x + n)i= 0 	* tqf it u I I 01 cl.) 

-001---  t I 	(in + n)(4)1 	=t1-1-4 VIc141 179-  t I 

	

1. 24 	 2. 20
3. 25 	 4. 32 	• 

145. If the real numbers a, b, c are such that 

a2  + 4b2  +16c2  = 48 and ab + 4bc + 2ca = 24. 

Than what is the value of a2  + b 2  + c 2  . 

	

1. 	12 	 2. 	16 

	

3. 21 	 4. 31 

145. zift 	a, 	b, 	c 	'# 	01,t-clict) 	-I•t.czilq 	t 	D-) 

	

a2  + 4b2  +16c2  = 48 	.ffzIT 	ab+ 4bc+ 2ca = 24 

c161 	a2  + b 2  + c2  c5T 1-11-1 t 
1. 	12 	 2. 	16 . 
3. 21 	 4. 31 

146. In 	given 	figure 	the 	measure 	of 

LA+/-8+LC+LD+/E+LFis 

146. t q 3Tret f ZA+ZB+ZC+ZD+/E+ 
4 411L1  ti 	A 
1. 120 ° 	 Aik B F 

A 
1. 120° 	 AMIL. B 2. 720 ° 	VARY 

3. 360° 	
-E  W C A  

F 
2. 720° 	

vanky 

3. 360° A 1 WA. C 	 E 4. 540 ° 	
-D 4.540° 

VD 

	

147. If 	sin 4  x + sin 2  x =1 	then 	value 	of 

cos4 x + cos t  x iS 

	

1. 	cos 2  X 	 2. 	sine  x 

	

3. 	tan2 x 	 4. 	1 

147. tift 	sin 4  x + sin 2  x =1 	c161 • 	cos4  x + cos 2 x 
Thl 4-11-1 * I 

	

1. 	cos 2  X 	 2. 	sin2 x 

	

3. 	tan2 x 	 4. 	1 

148. If 	1, 	2, 	3 	are 	the 	roots 	of the 	equation 
x 4  + ax 2  +bx+c = 0 then the value of c is 

	

1. 	18 	 2. 36 

	

3. 30 	 4. 32 

148. Tilt 1, 2, 3 *14cMul 	x4  -I- ax2  +bx±c=0 
lef -0)-  clET c 	4)1 	1-11-1 * I 

	

1. 	18 	 2. 36 

	

3. 30 	 4. 32 
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1 	1 1 	1 
149. Tiffi-  x= 	,-,y= 	1-- 06.1 x

3
+y

3 
cm --=.- 149. If x= 	-- 0' 	 then value of 

4-V15 	4-1-Nl 	' . 

x3 +y3 
is 

	

1. 486 	 2. 439 

	

3. 488 	 4. 476 

	

4-i1-i 	t.  I 

4-A/15 	4+A/15 

	

1. 486 	 2. 439 

	

3. 488 	 4. 476 

150. If the altitudes of triangle are 10cm,. 12cm 
and 15cm then its semi perimeter is 	• 

	

45 	 7 
1. 	- 	 2. cm 	 cm 

150. Tlit 	c,t.) fil-pc 	eiGi 	10cm, 12cm, 15cm 
c-IGI 	4)1 3TO tl-ft4TR t I 
45 	 7 

15 
	

60 

1. 	--,--- cm 
-‘/ 7 	

2 	m. 	I- c 
A/2 

15 	 60 
--,---- 3. 	 - cm 

14 	 -\/7 
cm 	4. 3. 	n- cm 	4. --,- cm 

/14 	 A/7 

151. If 12 cot 2  0 - 31 cosec 0 + 32 = 0 then value of 

sin 0 is 

-2  1. 	1 	 2. -3 or 	 or 

151. ?I-ft 	12 cot 2  0 - 31 cosec 0 + 32 - 0 	t I 	061 
sin 0 4)1 	-II-i *1 

1. 	3 TiT 1 	 2. 	
2 	- 2 TIT 

5 	 -3 	3 

4 	3 3. 	or - 	4. + -1 
5 	• 4 	 2 

5 	 3 	3 

4 	3 3. 	TIT 	 4. 	
+1 
- 

-5 	-4 	 2 
• 

152. Let ABCD be a rectangle and E and F be the 
points on CD and BC respectively such that4.-.--- 
area of (AADE) = 16, area (ACEF) = 9 and 
area (AABC) = 25. What is the area of triangle. 
AAEF? 

	

1. 28 	 2. 30 

	

3. 32 	 4. 36 

152. 	1-1I-i1 	ABCD 	Bch 	311-4-ff 	t,'MT{ 	CD 	-q- 	BC 
E 	-2TT F 	mcpk 	is 	t, t, 14-) aqch---o- 

(AADE)=16,&-)------0-  (ACEF) = 9 -2TT &)----J 
(AABC) = 25. AAEF chi &-)--1:5-ci-  4-41-  t? 

	

1. 28 	 2. 30 

	

3. 32 	 4. 36 
153. The edge of a cube is doubled then the 

percentage increase in the volume of cube is31-14-d-9'.4.Prft-dA-%*1 

	

1. 100% 	 2. 500% 

	

3. 300% 	 4. 700% • 

153. 	--1,-1 	4) 	1j-- T 	ct) 	q tt-Ii 	cr) 	-cF 	.I,-1 

	

1. 100% 	 2. 500% 	
• 

	

3. 300% 	 4. 700% 
154. The radii of two cylinders are in the ratio 2:3 

and their heights are in the ratio 5:3. The 
ratio of their volumes is 

	

1. 	10:17 	 2. 	20:27 

	

3. 10:27 	 4. 20:37 

154. c) 	*-6-9-I 	4 T 	4)1 	31--TEM 2:3 -2TT 
•U9- r 	z11* II 	chi 	31-T1TU 	5:3 	t I 	3-1c, ) 
{14-d-9-I cPI 31-fcl-ff * I 

	

1. 	10:17 	 2. 20:27 	 • 

	

3. 	10:27 	 4. 20:37 

	

155. A 	cone, 	a 	right 	circular 	cylinder 	and 	a 
hemisphere standing on equal base and have 
same height. The ratio of their volumes is . 

	

1. 	1 : 2 : 3 	 2. 	1 	: 3 : 2 

	

3. 	2 : 3 : 1 	 4. 	2 : 1 : 3 

155. 	.) 	, 	3T4-11-I- 	.ff2-1-T 	*6-9 	cOl 	317R 
fl1ii.-1 	*, 	-ff2/1 -3-9-4- 	k4-cii*qi 	q-11 	•14-11-1 	t1 
\1-ici\) 31-1-4-d-9I ct)I 3T-T1I-ff t I 

	

1. 	1 : 2 : 3 	 2. 	1 : 3 : 2 

	

3. 	2 : 3 : 1 	 4. 	2 : 1 : 3 
156. A shopkeeper sold two bicycle for 215000 

each, on•first he gains 50% and on the other 
a loss of 25%. His profit or loss is 

	

1. 0 	 2. 	162 

	

3. 125 	 4. 632 

. 

156. 	B ct) 	ct-)1.-iqk 	t 	flI41br1) 	cf.)) 	215000 
W-4T' 	col 	m1-1=m- 	ER- 	*--4--d-r 	* 1 
st-I I 	1e•-1 	-GR 	\3) 	50% 	cP1 	911-1- •UalT Tit- 
11-R- 	25% 	c.61 	-o-rf 	trth 	t1 	\-Ict) 1 	-MIT 	TIT 

	

-- 	-* I 
.1. 	0 	 2. 	162 
3. 125 	 4. 632 
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1 157. Average of 8 numbers is 20, that of the first 

two is 15.5 and that of the next three .is ') I 1 , 
3 

the 6th is less than the 7th by 4 and 7 less 
than the 8''. The last number is 

	

1. 25 	 2. 	28 

	

3. 35 	 4. 32 

157. 	8 	'-1€-0:1131) 	ct)I 	TRzl- 20 	*, W2-14-I 	Ohl 	15.5 

2.1-T 311-Tt -01-9" 	4)1 	liT-z1 	21-1 t, 	13-et 	‘-k-q-il 
3 

TiThdt .)- 4 .-2T1- 31-7-.4Ti 7 Wff * I 3Tffii 

‘-i_cl 	I 	- 
1. 	25 	 2. 	28 
3.35 	 4.32 

158. An equilateral triangle has its side of . 	cm, 

then radius of its circum-circle is 

1. 3cm 	 2. 4cm 

3. 7,13 cm 	 4. 2cm 

-Th1 	- z1-[-- 158. 	Bch 	‘-14-1 611 	Tuff 

3V3cin t, -3‘ -lc1) tifigr - fK-Ery. r ert 
1. 3cm 	 2. 4cm 

3. 2\/3 cm 	 4. 2cm 

8i 	27i 
- 	' j x 
	

1 	then find the X 	
8A: 	27x- 

159. 	zl-fr - 	3 	-1 3 	' 	+ 3 	' 	= 1 	t, 	Cl 	X 	4)1 159. If 	+ 1 	+ 3 	= , 
V729 	729 	5832 

value of x. 

	

1. 	1 	 2.8 

	

3. 3 	 4. 4 

729 	729 	5832 

11-1 	11(-1 	ct I 
1. 	1 	 2.8 
3. 	3 	 4. 4 

160. When 10 is subtracted from each of the given 
observation. the mean is reduced by 60%. If 
5 is added to all the given observation, the 
mean will be 

	

1. 25 	 2. 30 

	

3. 60 	 4. 65 

160. 	T:ff . 	.1c-- -10-) 	3 	Tr t 	10 	-Er-d1 	ftm 	uiN 

-r4K cl) 	T11-,Tf 	60% 	c1c1, 	-EIZ 	\_31 Id I 	* I 	721-f - 

4N 	 # 	5 	u11 	ftz-TT 	v-I N 	cl) 

Mar 614 111 

	

1. 	25 	 2. 	30 

	

3. 60 	4. 65  

161. Kheda Satyagrah was related to 
1. Against the oppressive plantation 

system 
2. Movement of cotton mill workers  
3. Relaxation in revenue collection 
4. None of above 

'#W- 161. 	-1c-114,1 6' TITzfh>c-Tff 2TT - 

1. c'1 4-1.-14)1i 	€11 4 11-1 	c2-m-2-11 	(-nub 

c. 	t 2. ct)L-11 	ct)II.) 	 4)1 1=1-7 

3. Q-1 4 11-1 	(1-Vf -44 RAR1c1 	f.67 

4. -Tz14- 	f 	c1-)) 

162. The first Iron and steel plant was set up in 

India at 

1. 	Bhilai 	 2. 	Kolkata 

3. Chennai 	 4. Jamshedpur 

162. 	qi-TRc 	* 	1,T2T~ 	c-h 	3N 	-k-ilc1 	1R1--)1 

-R--21-rcr- r 	c'1 	41 	- 
1. 	Pi-ai- 	 2. 	ct) c, I ct) I 01 

3 	- -,-I 	 4. 	u14-I 	qT 

163. Architect 	of 	national 	'unification 	of 	Prussia 
was 
1. Otto Von Bismark 	2. William I 
3. Mazzini 	4. Emmanuel II 

163. VTIT * VrItzf 	c-b1c.ur cm u1-1ch 2.4T 

1. 	3it-d)' 	c-1-1-1 	R '&4114> 	.2. 	R f- -1 4-1 	q2-117f 

-4----t 	 *\- 	2-0'llzpi- 3 	 4. 	41•1 
 

164. What do you mean by "Hind Swaraj"? 
1. Political Party of Ti'ak 

2. Book of Mahatma Gandhi 

3. Symbol of Indian National Congress 

4. Political Party of Mahatma Gandhi 

164. 	̀lt-- •{I 	f` 	3.1111- TIT T11=1-0- *- 
-crr-I 1 	fo---6-- 	. "1- 	1,,-icl-) 

2. 	4-161011 	T11-'01 	4 	5R----. 

-11tI-Zr f----- 3. 1-TROtZ1 	4)-1 4) '-1 	Ohl 
 

-J1 4. 4161011 	TlIdr 	slul--1-6c1-) 	1:1T 

165. The first Historical 	novel written 	in 	Bengal 
was 
1. Chemmin 	 2. Anguriya Binimoy 

3. Chomna Dudi 	4. Anandmath 

165. 	4 4 11(-1 # la- TT TRfT WITT 	61R-14) 	\3k-I-- -IN1 

2ff - 

31VE -1- 1. 	 2. 	IT Rf 4 R1 
 

3. 	)f:MT Sc,5) 	4. 31T9----4TU 
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166. Gandhi-Irwin Pact was held in 
1. 5th  March 1931 	2. 6th  Dec. 1931 
3. 	13th  March 1931 	4. 	14th  April 1931 

166. Tiftt 049-  t1-i$11cit -g3TT 

1. 	5 liF4 1931 	2. 	6 f47TIR 1931 

3. 	13 91-4 1931 	4. 	14 34-a-  1931 

167. Tax lavied by the church comprising 1  th of 
10 

agriculture produce was 
1. 	Livre 	2. 	taille 
3. Tithe 	 4. Suffrage 

It 167. 	e.1 	gTRT ef \3041q 	c01 	ct.), 	c06011c1I 
10 

21T -  

1. 	fat 	 2. 	t-A 
3. 	t2T 	 4.  

168. The The writer of 'Declaration of the Right of 
women and citizen' is 
.1. Olympe de Gouges 
2. Camille Desmoulins 
3. Napolean Bonapart 
4. Henry Mayhew 

'fct-er-ff 168. 	 3W15 	'fl*d1 	3TTEF 	11:F 	5 

Rif.yi.-1' * 	t - 
1. 34-61:11- 	Jrki 
2. *Pfit \•ki4-1I(,1) -I 
3. .)(-1)1.1.-1 	61'1-11LIIJ 
4. tfft lefg-4 

169. During the first world war Russia was ruled 
- by 

1. Tsar Nicholas I 	2. Tsar Nicholas II 
3. Tsar Nicholas III 	4. Tsar Nicholas IV 

169. 721T1.  -f474 ?1" . * 	1,-1 	W 	IN-Ict) MI 
1. 	‘31k 	fc-t.))(iN-I 	I 	2. 	uik 	is ci-))e-N1 	II 
3. 	kYV (c-o)e•N1 	III 	4. 	krIN 1:)c11)crN1 	IV 

• 
•170. Which of the following were known as Axis 

Powers. 
1. UK & USA 
2. USSR and UK 
3. Germany, Italy, Japan 
4. Germany, Japan, USA 

170. 	14-.1[W60 # t c4-;).-1 0 -gf-fil (.4-)5efic) 
0 - 
1. i -t-i 31' 	TIR4 	1\rzi 3Tit.c01 
2. fl1144c1 	'1-1 3T\ 	fa--. 

 

3. -it--41., Tet, ATIIL11-1 
' 4. . -4t., 	‘31i4I-1, tzpi 	1\3t1 ,31-41.  

171. Who decided to partition Bengal in 1905 

1 . Lord Clive 	2. Lord Bantik 

3. Lord Lord Curzon 	4. Lord Rippen 

171. 	1905 	14 	GI 41Ici 	ft'4-IT 	---1. 	1 131-4 	r+---- 

f+-71-r? 
1. 	MI 	crolci 	2. 	(-11  

•ct)y1.-1 3. 	cril 	 4. 	Mfg fti9" 
172. Which crop takes almost a year to grow? 

1. Cotton 	 2. Jute 

3. Rice 	 4. Sugarcane • 

172. 	col-i 	A 	t-Dflei ITIR 	).) 4 cY-TT'lliT Bch 	cII 
 TT fl4-H-4 . th V 

1. 	cO4N-1 	 2. 	v-j,d 
3. 	TIVIQ-1 	 4. 	11 7-fl.  

173. Who proclaimed dams as the temple of 
Modern India? 
1. Jawahar Lal Nehru 

Mahatma Gandhi 	• 
3. Rabindra Nath Tagore. . 
4. Subhash Chander Bose 

2. 

173. "Oz.lI ct)) 3TTP-T 4̀-TWf * 14f- 	r+7T4 4)61 
24-1? 
1. 	krIcii6,< 	Mid 	.)6\h) 	2. 	4-izno-il Tffzil 
3. 	7r4.-- 	.91-2,1" 	4  1 '< 	4. 	ViTtt -c-1.- 	tRi 

174. On which river is Sardar Sarovar Dam built? 
1. Tapi 	 . 	2. Narmada 
3. Krishna 	. 	4. Kaveri 

174. • -Nqk 	c-N qTU f+71' .-Iqc) IR 61-ii t? 
1. 	- tir 	 2. 	9-31-4-r 
3. 	Twit' 	 4. 	--E\qt 

175. Which soil type is made up of Lava Flows? 	i  
1. Red Soil 	• 	2. Yellow Soil 
3. 	Black Soil 	4. 	Laterite Soil 

175. (11.-1 tTl.  ftreet (licit uv1c.0 tlA t GA t? 
1. 	eilri fird:et 	2. 	tirt 4jql 
3. 	TTA.  i'qi 	4. 	())8,<I*t 	4 qi 
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176. In which state 'Kalpakkam 	Nuclear Power 
Plant' is situated? 
1. Kerela 	 2. Karnataka 
3. Andhra Pradesh 	4. Tamil Nadu 

176. .04 	tft7-1 	'RFT- fr 	14 	ci-)Q-Ncrci-)41 	ITRlifol 

k3-)v1 	-iq-)i 	t? 

1. 	cf)(-I 	 2. 	c0-1tct)  
3. 	31F-U V- T 	4. 	c-PQ-1-111 

177. Maruti Udyog Limited is an example of which 
type of industry? 
1. Joint sector 
2. Public sector 
3. Private sector 
4. Co-operative sector 

177. TM-J:0-  3E1\11T ffr 11 1 # -W.1-  Wct)k 

-- 	3t-1\14 1 	4)1 	3q1u1 	t? 

1. 	-T4-g4ff 3d 4 1 	2. 	'-i I cluPci) 	\3114 1 

3.f ---4t .--1)-Tr 	4. 	'dcta 	\3di'l 

178. The coriolis force is caused due to : 
1. Wind movement 
2. Earth rotation 
3. Cyclonic depression 
4. Jet stream 

178. --R3.4traRi 74110 4)1 	W-II 	cOkul t ? 

1. 	1:1-4 	-Tri 	2. 	TA.  -. 

3. 	el St) cl R-1 31-4-ff1q 	4. 	k))t 	-1-T.T-R1- 

179. Width of two tracks of Broad gauge is: 

1. 0.610Mts. 	 2. 	0.762mts  

3. 	1.000mts 	 4. 	1.676mts 

179. 	441 4)u1 	011 	Q-II-1) 	-Q'r 	t-i1-1) 	-. 	fM 

1. 	0.610 4:ird7 	2. 	0.762 TTr-d 

3. 	1.000 -11) 	 4. 	1.672 TTIZ7 

180. Which one of the following causes rainfall 
during winter in N.W. parts of India? 
1. Cyclonic depression 
2. Retreating monsoons 
3. Western disturbances 
4. South-West monsoon 

180. 	1--TTR-ff 	* 	3-ck.-1-1 -c14)) 	"4-1-P-11 	# 	tl-ff 	-)1-Lq 	It 

qtt 	qzfr ci-)Nu( t? 

1. -cist>010) 31-4TiTq 

2. a tc-11 H1-1T1 

3. LID, 41) 	fa-1)11- 

4. qrffuT - taq4=1.  H1,-1.j\-1 

181. Roof top rain water harvesting is the most 
commonpractice in: 

	

1. 	Shillong 	 2. 	Guwahati 

	

3. 	Imphal 	 4. 	Patna 

181. 	f+71- 	--P--1T9- 	L-N 	13ff 	clqivir( 	•d 4,1u1 	31 

.1 -,4fci 	-g? 

1. 	.NT ---IT  T 	 2. 	71-ger 

3. 	* 4-t-b1Q1 	 4. 	LIt--11 

182. 	S.T.P. is the abbreviation of : 
1. System Tech Park 
2. Software Software Technology Park 
3. State State Thermal Plant 
4. Software Tech Picket 

182. 	S.T.P. 	1.4)-14-)1 	-T4-rfflf ---cl t 

1. -R -1=1 	aci-) 

2. -1-14-tc\-ILN 	84-1)(11,A1 
3. , t 

4. flii-ta 	act) -M---' 

183. 'FEDECOR' is an organisation from : 

	

1. 	India 	 2. 	America 

	

3. 	Japan 	 4. 	Bolivia 

"c-1.-))' 183. 	 -i 416 ,-1 	4)1 	'14-61.-U t 

1. 	̀4-17ff ti 	 2. 	3-P4RM7 ti 

3. 	ul1c11-1 t 	 4. 	GI)c-Mql - k 

184. Why 	was 	International 	Monetary 	Fund 
established? 
1. To maintain peace and security 
2. Lends money to government of 

member nation when in need 
3. To implement trade agreements  
4. To take decision regarding misery and 

poverty of western countries 

184. 	r- 	i 	-43--r -'riq 	cIt 	P_A-rizr9-r 	q-zi 	4 

41? 

1. 7"iff 	3i17 Tan. - r 	-- q-rcHT  

2. -N•--1 tTi 	cl)) 	'1'''c1 -q74 t-k 	--131- 

3. c2-11t-IN 	fl4-lac1) 	Ch' 	Q11q, chi-) * f2'67 

4. LTIt-4171 * TIN ITT t Tfrzi-f4ff 
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185. A person who is not a member of parliament 
is appointed -as a minister he has to get 
elected to the houses of parliament within: 

1. A month 
2. Three month 
3. Six month 
4. Stipulated time fixed by the president 

185. 	 MfOTT \31) s -l'dq 4)1 

G1-1R11 Trzir t 

4-1-11 

1. -> liti4 

2. c Tfer9 . 

3. U.: Ifer9)' 

4. -1-1K-Eff20- 1-RT MD{ 

186. Finance Bill is introduce only in 
1. Loksabha 
2. Rajyasabha 

3. District Council 

4. Legislative Council 

186. U9- f41r-q-T. ct)ud 	u7-f=7) 	 t 
1. o)cl-) -p-ir 
2. 1\-3- N-1q-1T 

3. tOtsrq 
4. -W11-1 

187. By By whom the "Right to Constitutional 187. -uR-r 
Remedies" was considered as the soul and 

	
4))- 

heart of Indian constitution? 
1. Mahatma Gandhi 	 1. 4-110-11 TrIO'r 

4. Jawahar Lal Nehru 

2. Dr. Rajendra Prasad 
3. B. R. Ambedkar 

4. u1c116 MIM ' sr) 

2. s10 	1'11q 

3. 0 3470 3T 1 

34T(TIT 3T 	4)1 1T-EfT 

188. The distinguish feature 
	

a federal 
government is : 
1. National government gives some 

powers to the provincial government 
2. Power is distributed among the 

legislature, executive and judiciary 
3. Elected officials exercise supreme 

power in the government 
4. Governmental power is divided 

between different level of government 

188. #E117:1. 	 :- 

1. vrtzr 	3T-cr4 Tu. 
c4,1 kth 

2. , 	 3N. 

4-d ullc) 

3. PIuI 	ci ' 	 ‘-kci-)N 14 

014)c-1 4)1 -crztvr 
4. 	 Trro ~II't 	fief 

	

-  	
1 

189. Following is a minority community in Belgium 

1. Italian - speaking 	2. French - speaking 

3. Dutch - speaking 	4. English - speaking 

189. 	 14 T4 , r(,\Y“14-1 4)1 

	

1. 	- 	 2. T- 

	

3. 	- 'Mt 	4. 3.tMt - 

190. Who gives recognition to political parties as 
National parties or regional parties? 
1. Parliament 
2. President of India 
3. Election Commission of India 
4. Prime Minister of India 

190. k31-1) 	qo'i chi T)-z( qQ-11- 31-2-17- a-4)7f 

qc-1). 	4-11-qc-11 41-1 	c-11 *? 

1.  

2. .1-INff 4)1 

3. "111-Td "1-11-Td 4)1 5-11c1 341-zfrIT 

4. 41-TR-U 7UT9lit 

191. The retirement age of the Supreme Court 
Judge is 
1. 60 years 	 2. 65 years 
3. 68 years 	 4. 70 years 

191. 	-qN-11Q-N-1 	u1 -1 	)c.11 VOti 

3lT T 

1. 60 citi 	 2. 65 -q14 

3. 68 -414 	 4. 70 qlt 
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192. How many seats as reserved for women 
under Panchayati Raj Election in India 

	

1. 	2/ seats 	2. 	1 	seats / 3 	 4 

	

3. 	1/3  seats 	4. y?  seats 

192. 	7-TRU 	11- 	1-1T-IRA 	k5-1 	c 	31---111-ff 

ff'----t 	-l't 3T-R-f'u- 	. 

1. --141-- 	 2. 	1/ 	- Tr ' 	 4 
--TI: 

3 
	1/ 	

4 
	1/ 

	

3 	2 
193. What is the procedure that transfers some of 

the powers of the centre or state government 
to the local government called? 
1. 	Power sharing 	2. 	Decentralization 
3. Centralization 	4. Democracy 

.qrf -Rirl-  193., 	fl 	ch) 	77 	cf-)Cir t f -T{4 	c.'- 	X11 
4 	--Nci-,k 	-Th-c't 	TO 	in-c-R11 	- A-rtzr 

';N c-l-)1 	ch) 	t wthtI 

1. 	,-1-(-11 	Thl 	-11$)q1sa 	2. 	ici;•.-c)ct-Pul 

3. 	cf)-- )cMul 	4. 	ol)ct->c1-%1 	" 
194. Which of the following is considered as a 

component of social infrastructure. 
1. Transport 	 2. Education 
3. Communication 	4. Energy 

- C-1 194. 	4-1 	# 	t 	0-1 	-11 4-1G1ch 	31-1- 

' -1.-cl-11 	ct)I-Its 	t? 

1. 	-I1c1M1d 	 2.T-TT  f 

3. 	-1.-c-IN 	 4. 	6wi1 
195. The 	revenue 	and 	expenditure 	policy 	of 

government is called 

	

1. 	Monetary Policy 
Economic Economic Policy 

3. Fiscal Policy 
4. Foreign Trade Policy 

	

1. 	Tit 	l-f - 	2. 	31T 2c2. 

195. ,--Nct-)k 	* 	31-14 	3117 	uji-q- 	v)- 	-I.Eiff 	tit 

q-zrr cO6dIcl) t? 

3. 	lu1c.1)L1)-1 	t-f - 	4. 	-ft-4-c-I1 	c)--IILIN tt 

196. In Which five year.  plan, Mahalanobis Model 
was adopted in India 
1. 	Fifth 	 2. 	First 
3. Second 	 4. Third 

196. 	7-1TR-d-  4 	4-110.-11,s11fl 	cm 	4-11e-1 	1+---i 	1-1-GIC1 	z-1 

-zit-----r 4 3Tc1-q1F1r TRIT t? 

ELTT 1. 	 2. 	'A-2M  
3. 	felzf 	 4. 	Vizi 

197. Which treaty provided for a common currency 
for for 	member 	countries 	of 	European 
community 
1. Brussels Treaty 
2. Geneva Convention 
3. Treaty of Versailles 
4. Maastricht Treaty 

197.TK-M1-4 	TTET 	c, 	re-ZT) 	-- r 	c-r) 	------A'ir 	- 

14-1-11c) -- 31 	Ti WNo- 	? 

1. 	A-R- 1- 	,-1 4-1$nd1 	2. 	3),-)cil 	cilcn- 

3. 	cN1c--i 	.-14-1-1\  cll 	4. 	4-111Z-0-t 	14--tAcil 

198. Which 	bank first introduced 	credit card 	in 
India 
1. Central Bank of India 
2. State Bank of India 
3. ICICI Bank 
4. HDFC Bank 

\-It 198. 	7-11-Td.  lt 	cb1.4 	-ZI- 3T1-ff  

-4-- 	EF 	ft7Dir 1. 4e-1 	3# 

2. 7-TTedr4 	U 

3. ICICI U 

4.. 	HDFC U 
199. The Chhota Nagpur Plateau famous for its 

mineral deposits is in which state 
1. Uttar Pradesh 	2. Jharkhand 
3. Madhya Pradesh 	4. Orissa 

199. 	rui). 	ci) 	ic' 	-q-RT-4 	13t-d7 	-1--4TEKR- 	ITOR 

f--€ 'fl u4 T4 --Q-T-ff t--?  

. 	-q---T 1 	\3-K-k 	r 	2. 	$-11_4  
3. 	lizz11;1-4T 	 4. 	\3 NIT 

200. What is the name given to an economy which 
has no relation with rest of the world 
1. Capitalist Economy 
2. Mixed Economy 
3. Socialist Economy 
4. Closed Economy 

'-lcf-)1 200. 't 	31-21- 1-4R--2-TT 	*sf 	-ra-4 t 	ct,1 

#4-U 	6) 	qzir cf-) 41? 

" 1. i 	34-2,1-0a-a --.2-fr 

-141 --d 2. 31-2,1-0=M7-21-1- 

3. 1J-Iluicl I q) 	31'211-q7-2TT 

4. -4-q-  31-2-1-71-4R2TT 

Page 30 of 32 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30

